ALL INDIA FULL SYLLABUS TEST SERIES-UG-2023-24

FULLSYLLABUS TEST-1

DURATION : 180 Minutes MARKS : 720

Topic Covered

Physics : Full Syllabus
Chemistry ¢ Full Syllabus
Biology ¢ Full Syllabus

(Do not open this Test Booklet until you are asked to do so.)

Please read the instructions carefully :

The Test pattern of NEET (UJG)-2023 comprises of two Sections.

Each subject will consist of two sections. Section A will consist of 35 Questions and Section B will have 15 questions, out
of these 15 Questions, candidates can choose to attempt any 10 Questions.

The pattern for the NEET (UG)-202 1 Examination for admission in the Session 202 1-22 is as follows:

Mark{s)*
No. Of Type Of
Em-” W“m -
- o

SECTION B 15 40
- CHEMISTRY T 'ONA > 140
mMca
SECTION B 15 a9 (Multiple
SECTION A 3s 110 Choice
BOTANY Questions).
SECTION B 15 a0
. SECTION A 35 140
SECTION B 15 40
[ — TOTAL MARKS 720

and

Note: Correct option marked will be given (4} marks Incorrect option marked will be minus one {-1) mork.

pted/Unc ere - "
+ The important points to note:

I Fach question carries 04 (four) marks and, for each correct answer candidate will get 04 (four) marks.

1. For each incorrect answer, 01{one) mark will be deducted from the total score.

1L To answer a question, the candidate has to {ind, for each question, the correct answer/ best option.

% However. afier the process of the challenge ol'key. if'more than one option is found to be correct then all/any one

of the multiple correct/best options marked will be given four marks (+4).
. Any incorrect option marked will be given minus one mark (-1).

. Unanswered/Unattempted questions will be given no marks. In case, a question is dropped/ ignored, all
candidates will be given four marks (+4) irrespective of the fact whether the question has been attempted or not
attempted by the candidate.
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INSTRUCTION

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer Sheet. Do not
write your roll no. anywhere else except in the specified spacce in the Test Booklet/Answer Sheet.

Betore attempting the question paper ensure that it contains all the pages and no question is missing.
Each candidate must show on demand his/her Admission Card to the Invigilator,

[any student 1s found to have occupied the seat ol another student, both the students shall be removed {rom the examination
and shall have to accept any other penalty imposed upon them.

No candidate, without special permission of the Superintendent or Invigilator, would leave his‘her seat.

The candidates should not leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where a candidate has not signed the Attendance Sheet second time will be deemed
not to have handed over Answer Sheet and dealt with as an unfair means case.

Use of Electronie/Manual Calculator 1s prohibited.

The candidates are governed by all Rules and Regulations ol the Board with regard to their conduct in the Examination Hall.
All cases of untair means will be dealt with as per Rules and Regulations of the Board.

The candidates will write the Correct Test 11D Code as given in the Test Booklet/Answer Sheet in the Attendance Sheet.



BEWARE OF NEGATIVE MARKING

TOPIC : FULL SYLLABUS (MODEL)

SECTION-A

©us-A

Attempt All 35 Questions

@ 35939 afard 21

A big drop of radius R is formed by 1000 small
droplets of water, the radius r of small drop is:

R R
t 10 @) 100
5 R L
) 500 L 1000

Which of the following curve can not represent
one dimension motion :
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The relative error in the determination of the
surface area of a sphere is 'a', then the relative
error in the determination of its volume is :

3 2
(1) o @ 3¢
3) o @) 2(

A conveyor belt is moving at constant speed of
2m/s. Abox is gently dropped on it. The coefficient
of friction between them is p = 0.5. The distance
that the box will move relative to belt before
coming to rest on it, taking g =10 m/s?, is :

(1) 0.4 meter

(2) 1.2meter

(3) 0.6 meter

(4) Zero

™
t ./
fordt Mol @ a9e & Aa%a A AR o', =@
it & e A ae i sk
3 2
(h 5@ (@) zu
5

(3) « (4) Eu

Ueh dI8eh Yeel 2m/s & Fad A Al SR w21 v
TR F 9R ¥ 39 T W FEr 9ar 2 1 991 3R el
W wh- & ggel 99 @t W g s (=T e
n=0.5941 g =10 m/s?2) :

(1) 0.4 meter
(2) 1.2 meter

(3) 0.6 meter

(4) T4
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A point P on the trajectory of a projectile projected
at an angle 8 with horizontal subtends angle o
and p at the point of projection and point of landing
then:

Y B

&1

(1) tanO+tanw=tan

(2) tanu+tan f=tan 0

(3) tan B +tan p =tan «

(4) tanb+tanw=2tan p

Two particles A and B execute simple harmonic

T
motion of period T and 57 . They start from mean

position. The phase difference between them when
the particle A completes one oscillation will be :

M 5

(2) Zero
2n
@ 3

“@

4
The distance of centre of mass from point O of
two square plates system as shown, if mases of
plates are 2m and m is (their edges are a and 2a

respectively) :

.

.

!
|

a d

M 5 M
@ a @ a
3

® = @ >
2a

@) 2?3 @ 3

R 4 T wais vy A 9w vw Rg PRI vyaw
Y o ivT R TR forar war 21 Ak g Pusg fag
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Y

0 = [5

(1) tan0+tan o =tan B

(2) tanae+tanf=tan 0

(3) tan 0 +tan B =tan «

4) tanO+tanc=2tanp
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8.

10.

1.

Find out dipole moment of arrangment :

Find out force on current carrying conductor
shown in figure placed in a magnetic field B :

X X X X

x

X X X

. . 6
Bfsin—
(1) 1 81n2

.~ . B
2iBfsin—
(2) 2Blsing

) 2iB¢
(4) 2iBrsind
In the given circuit find out apparent power :

40 6002 300

(<)
S

V = 200+/2sin100nt

(1) 480W (2) 640W
(3) 280W (4) 540 W

A liquid does not wet the solid surface if angle of
contactis:

(1) Zero

(2) equalto45”
(3) equalto 60°
(4) greater than 90°

8.

10.

1.

A ma o= A dea faya syl aqd:

2qr
K3
(2) p=ar

(3) p=2qr
qr

@ p=

@3 1 fe & geasl @9 4 BA W@ uwEel aras
W & Fd19a:

(1) p=

b B x
® x x
8
(1 |B,.S|n5
0
2) 2|B(S|n2
() 2B
(4) 2iBrsino
fea 1 ufeger & sl oifea B
400 600 300
—WWA—TTT——
F o
S
V = 200./2sin100xt
(1) 480W (2) 640W
(3) 280w (4) 540W
oo A1 F gd1E &) <8 PEiar 2, afe gus sl 2
M I=
(2) 45'F TR
(3) 60°F =TE
(4) 90° ¥ a9y
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12. Anideal gas of mass min a state A goes to another | 12,
state B via three different processes as shown in
figure. If Q,, Q, and Q, denote the heat absorbed
by the gas along the three paths, then :

13.

14.

15.

(1)
@)
)
(@)

The magnetic flux through a coil perpendicularto | 13,
its plane and directed into the paper varies with
time t (in second) according to the relation :

The magnitude of emf induced in coil at f = 2 sec
is:

(1)
)

(3) 45volt

(@)

A body is executing simple harmonic motion with | 14,
frequency 'n’ the frequency of its potential energy

IS:

(1) 4n

@)

3) 2n

()

If earth suddenly stops rotating about its own axis, | 15.

the increase in it’s temperature will be
all the symbels have their usual meaning

{1

@)

)
(4)

Q,<Q,<Q,
Q,<Q,=Q,
Q,=Q,>Q,
Q,>Q,>Q,

¢=(5t+10t+ 1) weber

15 vaolt

30 volt

10 volt

n

3n

: where

R2w?
5ds

R*w*
Js

Rmo?
5Js

None of these

U meedE Sl AN A9 v Jaenr A Ed JEer
BA I 3o -3t gw A W 2, b f fam
ff ks kx; kg$ fn Q,, Q, R Q, T ¥ =it o
! ka8, 9

(1) Q,<Q,<Q,
@) Q,<Q,=Q,
8 @ =0,>Q,
@ Q,>Q,>Q,

el dveell & Ol & oFEad 9UT FE & o § A
I AR @ oA are TEEE a9 (das )
& Ay ot a7 @ AER Teddr 21

¢=(5t*+10t +1}dxR
t=2sec ¥ v ¥ dRa 3o a0 99 shw
(1) 15dee
(2) 30dke
(3) 45drec
(4) 104

U a5 'n' AR & 9Xa A A T @Y 21 @A
Refos ot @ smafea skl

(1) 4n

) n

(3) 2n

4) 3n

9 FE & IR A g3 A JAEE w6 al Al
3@ a9 A gie el Sel @ wdhd svn aeeg el
W B

R’e’

5Js

M

R%wy?
Js

@)

3 Rme
) 5Js

(4) IYIFT FIS 8
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16.

17.

18.

19.

20.

A faulty thermometer has its lower fixed point
marked as —10°C and upper fixed point marked
as 110° and upper fixed point marked as 110°. If
the temperature of the body shown in this scale is
62°, the temperature shown on the Celsius scale
is:

(1) 72°C

(2) 82°C

(3) 60°C

4) 42°C

When a material is inserted inside the inductor

the current in the circuit increases, then the nature
of the material is :

L R
—/TOE0N AN

)
pry
(1) ferromagnetic
(2) paramagnetic
(3) diamagnetic
(4) all of these
The magnetic force acting on a charged particle
of charge -2uC in a magnetic field of 2T acting
in y direction, when the particle velocity is:
(21 +3])x10% ms™,is

(1) 4 N in z direction

(2) 8 Niny direction

(3) 8 Nin z direction

(4) 8 Nin -z direction

The field of view is maximum for :

(1) plane mirror

(2) concave mirror

(3) convex mirror

(4) cylindrical mirror

The equation of displacement of two waves are
given as

N

Y, = 105in;(3nt+g 1Y, = 5(3in3nt+J§cosSnt)
\ i

Then what is the ratio of their amplitudes :

(N 1:2

2 2:1

3 1:1

{4) None of these

16.

17.

18.

19.

20.

oe Srwga AT et g B g —10°c e
Jeaaw fad famg 110021 afe st fave w1 g@ e &
d1g 62° &, af dfcagg w@a ¥ 9 2

(1) 72°C
(2) 82°C
(3) 60°C
(4) 42°C

o IS g Uk 9 ueell A SIar Sar @ A S 1
A Hear 21 Yo Y i B

| R
—BTE——ANN

=)
=1

(1) wegE

(2) FTTEEE

(3) fasF=ig

(4) IHET T

v- e & flq 2 Qe & graallg &9 A —20C FET
& U AT T R FIERT R e S T HT
o (21+3))x108 ms ! f 3R, 2R

(1) 4 =g z faam &

) 8 A y e ¥

(3) 8 e z feom ¥

@) 8 e -z feam &
Fftreraw 39 &4 B

(1) E9Fer 2997

(2) 3= YT

(3) I I

(4) dEHIER ST

3 am & faeas & gt f
/37rt+3\'
\ 3)
2 a9 3D AP 1 AT R 2
(M) 1:2

@) 2

@3) 1:1

(4) ITFT H HI$ 79

y, =10sin Y, = 5(sin3nt+\/§c083nt)
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21.

22,

23.

24.

25,

Four identical rods of same material are joined
end to end to form a square. If the temperature
difference between the ends of a diagonal is
100°C, then the temperature difference between
the ends of other diagonal will he :

(1) 0°C

100, i
(2) o C; where | is the length of each rod

100
°C
(3) 2l
(4) 100°C
A bomb explodes in mid-air when it has a

horizontal velocity of 20 ms™' . It breaks into two
pieces A and B having masses inratio1: 2. If A
goes vertically at speed 80 ms , the speed of B

will be :

(1) 40ms™’

(2) 50ms™

(3) 60ms—’

4) 100 ms™

A couple produces

(1) no motion

(2) purelylinear motion

(3) purely rotational motion
(4) linear and rotational

For a satellite moving in an orbit around the earth,
the ratio of kinetic energy to potential energy is:

(1) L
2
2

@ 7

(3) 2

@ 2

Which is not the unit of electric field :

(1) Newton/ Coloumb

(2) Volt / meter

(3) Joule/Coloumb

{(4) Joule Coloumb™ x metre™

21.

22,

23.

24,

25.

G ey &l 9R Uk 919 391 bl [ A Sl v
i g 9rEr 21 gl v Al & R & 9 e
100°C & af Tar Al & fadt & i argae s

(1) 0°C

100,

2 o C, where lis the length of each rod

) @UC
2l
(4) 100°C

geh &9 20 A1 /8 & afaw 37 d 9y e g2 @ e
A9 B fagifor &t wrar 2 foma st &1 sy
1:221 3 A 80l /3. @it =919 & FHEaleR 9T ST
2 a9 B 91 BN ¢

(1) 40ms™

2 50ms”

(3) 60 ms™

(4) 100 ms™

TALH I~ hedl B

(1) =i i =&

(2) TOT FAEEE AT

() T i e

(4) FIHER 3K o afy

Pl & IR IR P g8 el Juare & faw afawr o=t
3 feafors Soait a1 S1Ta 21

M

N[ —

2) %

(3) 2

@ 2

T F FI dT AT FT A= A
(1) =/ A

(2) dree /9T

(3) W / A

(4) 5 FAT " xHFR
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26.

27.

28.

29.

Find equivalent resistance between A andB :

(1 3 (2) 3
3) SR 4) 8R

The distance between two rails is 1.2 m. The center
of gravity of the train is at a height of 2 m from the
ground. The maximum safe speed of the train on
the circular path of radius 150 m is (g = 9.8 m/s?) :

(1) 21ms™*
(2) 42ms™’
(3) B3ms"
@) 84ms~

The angle of a prism is 'A’. One of its refracting
surfaces is silvered. Light rays falling at an angle
of incidence 2A on the first surface returns back
through the same path after suffering reflection at
the silvered surface. The refractive index U of the

prism is:

(1) 2sinA (2) 2cosA
1

(3) '2005A 4 tanA

As shown in figure a metal rod makes contact with
the parallel wires and completes the circuit. The
circuit area is Perpendicualar to magnetic field B
=1.0 T. If the resistance of total circuit is 2Q, the
force needed to move the rod as indicated with a
constant speed of 2m/s will be :

x x X _x x
x x % x
x X * g
. ’ y % ~4— v=2M/s
x x x x
x x x - x

(1) 25N (2) 0.25N

(3) 25N 4) 25x10*N.

26. d 9Ryx & A st B & 4w deu gfadu @ sh:
R‘/]\« R

R
:—Jf]:\{\f‘ \/LL:WE :\EWL/ ml\qm\._a
N

, R 5 SF
M 3 2) 3
(3) 5R (4) 8R

27. < Yelat & di9 9 g8 1.2 2 WS @ EE B
at gt & Fars 2 M. 21 150 M B & geg 1
IR i feraeil siforena R 9re BNl (g =9.8

m/s?) :

(1) 21 ms™
(2) 42ms™
(3) 83ms™
4) 84 ms™

28. fdl fUsg &1 +ivr ‘A" 21 34 s & vs syads
e i Wlad S WadS o a1 T 2 | 349 IS
9 2A 10T 91 Jiafad geprar 9 fheol, wifad @ qaadq
D AT AT A W AE {1 o 2 & ey
$T Y-l U BT

(1) 2sinA (2) 2cosA

@) ;COSA 4) tanA

29. fEmd 1 ToAIER U a1g & @3 TR &l [ HT
2 our yReY @1 Sahd redl 89 & odad @
(B =1.0T)afe 9Rar =1 e 9y 2 Q 3F 81 91, B3
Y 23 /%0 &t 1T A T I & T foram I T
BH:

X x x __X' x
X X x X
=
X X X &} o
[ gl =ZIM/s
% % x BT
x X x - x
x x x R x
(1) 25N (2) 0.25N
(3) 25N (4) 25x 10 N.
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30.

31.

32.

33.

34.

At magnetic north pole of the earth the values of
horizontal component H and angle of dip ¢ are :
(1) H=0and ¢ =45°

(2) H=0and ¢ =90°

(3) H=0and ¢ =0

(4) H=45and ¢ = 45°

The block Ain figure weighs 100 N .. The coefficient
of static friction between the block and table is
0.25. The weight of the block B is maximum for

the system to be in equilibrium. The value of T is

(String is massless and inextensible):

(1) 0.25N

2) 25N

(3) 100N

(4) 100.25N

Equation of stationary waveis ¥ =10 sin %COS %

positions of antinodes is :
(1) & 15; 25 e

A wave of frequency 100 Hz travels along a string
towards the fixed end. When this wave travels
back, after reflection, a node is formed at a distance
of 10 cm from the fixed end. The speed of the wave
(incident and reflected) is :

(1) 5m/s

(2) 10m/s

(3) 20 m/s

(4) 40 m/s

At a given temperature, velocity of sound in
oxygen and in hydrogen has the ratio :

(1 4:1 2 1:4

(3) a1 4 2:1

30.

31.

32.

33.

34.

TG Il Yd R & ged Hawr Afa &l ¢
AT E -

(1) H=03iR ¢ = 45°
(2) H=03K ¢ =90°
(3) H=03 ¢ =0°
@) H=453K ¢ = 45°

e A S MR 100 N 2 29d 3 e & & =efor
faare 0.25 21 afe eat B &1 R Fram 9 aqe=
&t o 3 giftreraw 2191 A8 &1 99 T, @ (G
Foal 9 AfaaFT 21):

(1) 0.25N
2) 25N
(3) 100N

(4) 100.25N
I TGT T GHIET yﬂGsin%COS%%mr—q‘Y
& Rufaai 2:

M
2)
3
@) I8 =

T 100 Hz 3gfer arel a%r g2 R &1 3R aerdt 2 o
gg 1 qqafdd St 9y Fidl € 99 g2 R A 10 em
X Fer=< 991a1 @ 99 9 F) 95 ehi (i
‘Rﬂﬁﬁ):

(1) 5m/s

@ 10 mis

(3) 20 m/s

(4) 40 mis

3 3 g 9t saf i =l @ s ik e
ﬁﬁlﬁ'ﬂﬁﬁ"ﬂ
Ty e

3) 1:1

i Ny LS T—
0,10, 20 ........

@) 1:4
@) 2:1
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35.

Out of the following options which one can be
used to produce a propagating electromagnetic
wave ?

(1) Acharge moving at constant velocity

(2) A stationary charge

(3) Achargeless particle

(4) Anaccelerating charge
SECTION-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

36.

37.

38.

39.

A 4uF conductor is charged to 400 volts and then
its plates are joined through a resistance of 1 K¢; .
The heat produced in the resistance is:

(1) 0.16J (2) 1.28J

(3) 0.64J (4) 0.32J

During inelastic collision between two bodies,
which one of the following quantities always

remains conserved :

(1) Total kinetic energy

(2) Total mechancial energy

(3) Total linear momentum

(4) Speed of each body.

The dimension of 1/2 ¢ E2 is

Where g, — permittivity of free space,
E — electric field intensity :

(1) MLTT

(@) MLZT]

(3) IMLT]

() [M'L2T].

K.+ metal 1 metal 2

From above graph between kinetic energy vs

frequency we can conclude that :

(1) work function of metal-1 is higher than metal-2

(2) work function of metal-1is lower than metal-2

(3) both metal-1 and metal-2 have same work function

(4) none of these.

35, e & @ re Raea @ faga ey 9 3o &t
G

(1) T9ae a1 & gaar 530 Fmaw
() farmr ¥ e aae
(3) s A2 =or
(4) =afeT 3masT
Qus-B

20 @vs ¥ 15984 21yl 34 15951 & @ 1< sh
1095 Y ¥hall = | Afe q8erit 109 sifres gz a1
IR 2T @ A = R g IR 1099 € =g Bt

36. U 4 WIFH BE P GUIRA H) 400 diee W INRARE
Torar T oo ga=t <iet & 1 e are vk |
ste fear ) sarge gfady A Frast s a9t

(1) 0.16J ) 1.28J
(3) 064 4) 0.32J
37. A IS S B A R gEce @ oRH Fefaiae

A 4 @l 4 ufdr gde aRea wdl 2

(1) et TS ol

(2) =d gif=re el

(3) ol ¥ ET

(4) e frz =1 =,

38. [1/2g,E?] 9 famn 3 -l &, > Fata a0t fagasfiemr
E = fagra &= a0 g -

(1 MLT'T)
(2) IML?T]
(3) ML2T]

(4) M'L2T].

K.t metal 1 metal 2

39.

IR T Foll vs AT a% @ & s e
g9 2

(1) T9-17% FH Fe UF-29 T

(2) u1g-191 T B UIg-29 FH 2

(3) <Ml -1 3¥ UTg-2 T 1 Foid A &
@) IR § i A
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40.

41.

42.

43,

In the reaction represented by :

A A-d A-d A-4
XY= LY - .Y - 5 K

the decays in the sequence are :
(1) w.B.v

@ P.a.y.

3) v.o

@) oy p

A car is negotiating a curved road of radius R. The
road is banked at an angle . The coefficient of
friction between the tyres of the car and the road

is Uy . The maximum safe velocity on this road is:

‘J 1. +tano }
(1) Vg Lﬂ—u tan®

. +tang )

@ \g \1—u tan(),‘

ug +tand

Jg[
~ U tane_)

® yrl

@ el
If a sphere is rolling, the ratio of the translational
energy to total kinetic energy is given by

() 7:10

(2) 2:5

(3) 10:7

4 5:7

The angular magnification of a telescope which

contains an objective of focal length f, and eye-
piece of focal length f, for relexed eye is :

f
M ¥
@ "1

) E

@ 14,

40. AT X" >, ¥ S

41.

42,

43.

A-d A4
LY s K

¥ FAMER &9
(1) oB,y
2) B.a.y.
@) .o B
4) a.v.p

FE FR Bgr RS afkd 9ee T I 21 98 95
S o W R 21 4l R & il HR g5k B A
qul-IoNE 1, B 1 A 39 ¥gF W HR & Afdan

g‘@lﬁ%ﬂ%l

2[ Ug +tan® |

() \‘ —ugtan
= % n oo
f (.us+tanﬂ

@) \jg \1-pugtand

ﬁg ug +tan® ]
3) \R 1-us,tang

——
g fus+tan0J

() \R2| 1-u, tand

T e Alee TR T 2 1 W A e o S
oS Fat &1 FIE B

(1) 7:10

2 2:5

(3) 10:7

4) 5:7

f wia gl & AREzS a1 £, hl4d g0 & aPEA
ar T & JAlEg @ W aen @ fow w@ig
Sl &7 g4 8 ¢

h

2

) E

)

@) 5

® 15
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45,

46.

47.

48,

In Young's experiment with one source and two
slits, if one of the slits is covered with black paper,
then:

(1) the fringes will be darker
(2) the fringes wil be narrower
(3) the fringes will be broader

(4) no fringes will be obtained and the screen will have
uniform illumination

A spherical ball is compressed by 0.01% when a

pressure of 100 atmosphere is applied on it. Its bulk
modulus of elasticity in dyne/cm? will be
approximately:
(1) 10 (2)10’
(3)10° (4)10™

The value of current in the given circuit is :

p N

20 Q
Y d N v
(1) 0.10A
@ 11A
(3) 102A
4) OA

The electron in the hydrogen atom jumps from
excited state (n=3) to ground state (n=1) and the
photons thus emitted irradiate a photosensitive
material. If the work function of the material is
5.1 eV, the stopping potential is estimated to be:
(the energy of the electron in nth state

13.6
E,= -z

eV):
(1 51V

(2) 121V

(3) 17.2V

4) 7V

In the given circuit, A, B and C areinputsand Y
is the output. The output Y is:

—

(1) High for all the high inputs
(2) High for all the low inputs

(3) Low for all low inputs

(4) High whenA=0,B=0,C = 1.

45,

46.

47.

48.

9 & 9T ¥ afe v Ree @) wrell @l @ e Rar
ollg d9

(1) TohesT arer Tl BT
(2) Tt @ BT
(3) ot =St &t

(4) IE et 80 oo 25 3 e 9 A ook e
BT

Ife oo Mellg AT 9 100 IYAVSE HT < el IR 9

0.01% =hT Gdie] 811 2 | g AGaaIs THEY]

AT SR/ A sl

14

(110" (2)10
(3)10° (4)10™
forar & {3 ulRgy & urr 2
E IR ang
Zav = e “1v
(1) 0.10A
@ 1.1A
(3) 102A
4) 0A

BI5sioM 9] ¥ Foagid Idfeld Jaedr n=34
n =13 T © 99 U Rl Icaford elidr 8 3 98
Il GUTET 998 9 fikar 21 afe ads &1 & waq
5.1eVe 99 gmee faa 2 (nd el @R ¥ gAegH

13.6
& Foll E, = o ev):
(1) 51V
) 121V
(3) 17.2V
@) 7V

23 1 g & A B @ik clash 2 qur Yiela 21
ﬁvﬁryé‘:

) >
B
Y
: )
(1) T 3== fAa9 & forw 3==
() w7 Ty st & foro 3=
(3) & et e = fow feer
(4)3=F W9 A=0,B=0,C=1.
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49. AnN -type semi conductor is :

50.

(1) Negatively charged

(2) Positively charged

(3) Neutral

(4) depending upon impurity

Two nuclei have their mass numbers in the ratio
of 1 : 3 The ratio of their nuclear densities would
be:

) 143
@) w1
(3) (3)":1
@ 1:1

49. U UH0 TIZY HUAAE B
(1) FFomafaa
(2) A
(3) IerEA
(4) ¥EfE = A )RR

50. < dsehl 9 TEFIH GEATHl & AU 1: 3 31 IS
@vg & Hcdl T ATIE B

(1) 1:3
@) 3:1
3) (3)"°: 1
) 1:1
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TOPIC : FULLSYLLABUS (MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, O=16, Na=23, Mg=24, P=31, 5=32, CI=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, |=127, Ba=137, Au=197

SECTION-A

©us-A

Attempt All 35 Questions

4 3597 JfAad 21

51.

52,

53.

Assertion : The heavier p-block elements do not
form strong n-bonds.

Reascon : The heavier elements of p-block form
drn-prordn-drx bonds

(1) If both assertion and reason are correct, and
reason is the correct explanation of the assertion

(2) Ifboth assertion and reason are correct, but reason
is not the correct explanation of the assertion

(3) If assertion is correct but reason is incorrect

(4) If assertion is incorrect but reason is correct

A body of mass 10 mg is moving with a velocity
of 100 m s'. The wavelength of the de-Broglie
wave associated with it would be :

(1) 6.63x10"m
(2) 6.63x10' m
(3) 6.63x10~m

(4) 6.63x10m

What mass of Kl are required to produce 0.2 moles
of K, Hgl, (M of KI =167):

(1) 33.4gm
(2) 133gm
(3) 66.8gm
(4) 175gm

The major product of the following reaction is :

OH
1 KCO,
EXA 2(_‘.”35 (1eq)
OH
OCH, -
oL o)
OH

OCH

OH
3 i+ @:/\
@) _ @) -

51.

52.

63.

54.

Y ; pselleh & TR O 99d na=el =7 iy a8
EIGEEA

&ROT : pSATh @ I 99 dro-pr Al du-dr S &1
o s 21

(1) Afe 9= A FROT S 9 B 3T FRT U F
FE HT FAT 7

(2) afF T 3R FRIT 24T I B 30 FROT FAF A
e AT Aol FAm B |

(3) Al Fu9 9= A" FEOT 39 =T
(4) afF &4 3R RV A4 EH =

10 mg ¥ ATell 9%g T 497 100 m s’ dl ga

(1) 6.63%10" m
(2) 6.63x10°' m
(3) 6.63x10“m

(4) 6.63x10%m

K,Hgl, & 0.2 <t & & forg K& [haq s=qae
il JEwgHar s (M of KI=167) :

(1) 33.4gm
(2) 133gm
(3) 66.8gm
() 175gm
Feferiaa aifdvfrar &1 v 3w 2
OH
1160,
OH

OCH

s o)
OH
OCH, OH
3 .
o @ och
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55.

56.

57.

58.

59.

The incorrect statement among the following is :
(1) a-D-glucose and 3-D-glucose are anomers

(2) the pentaacetate of glucose does not react with
hydroxyl amine

(3) cellulose is a straight chain polysaccharide made
up of only 3-D-glucose units

(4) u-D-glucose and 3-D-glucose are enantiomers

Which of the following compounds will react with
ethanolic KCN :

(A) Ethyl chloride
(B) Acetyl chloride
(C) Chlorobenzene
(D) Benzaldehyde
(1) A/Band D

(2) B,CandD

(3) D only

(4) Aand C

Wurtz reaction of methyl iodide yields an organic
compound X. Which of the following reaction also
yields X :

(1) C,H,Cl + LiAH, —
(2) C,H.Cl+Mg—ener

(3) C,H.C+C,H.ONa—

(4) CHCI, +Ag(powder) ——

In an homonuclear molecule which of the
following set of orbitals are degenerate :

(1) o,,and G,

(2) m,, and Ty

() my, andm,,

(4) o,,_and rc'zpﬁ

Select correct statement :

(1) Lyophilic colloids are reversible sol

(2) Lyophobic colloids are reversible sol

(3) Lyophilic colloids are work as protective colloids

(4) (1)and (3) are correct

55.

56.

57.

58.

59.

FefeRaa o <= a1 &y Toq 2
(1) DTSRI 3 [j-DIoTFRI TAR & |

(2) ETeeiferael WA & A TR A dewiee st
T X 2

(3) At Aell el 9 v W age 2, p-D-
TAFIST gTE A fera a8

(4) 0-DITRTST 3 B-DAeehioT ARERR &

Frafefiaa & 4 ar 9ifie oo KCNS aifdifar
0

CANEEECINES
(B) wdlfeet allugs
(C) T A=
(D) difezerss
(1} A, B3R D

(2) B, C3R D

(3) D&ad

(4) AFIRC

AR FAEIEEE & o aAliHar & s it X
i Bldl 2 1 e A @ e a afifear @ 0 Xur=
B -

(1) C,H,Cl+ LIAH, -
{2} G, Clenmg-usher

(3) C,H.CH+C,H.ONa >

(4) CHCI, +Ag(powder) ——

U A AT v & ford fd @ fon st
Sl |HH Bl

Mo, &0,
(2) Mo, & Ty

() my, &,

(@) 0., & T,

a8 - 9fAe
(1) AR g SeRayg A B F |
(2) FTERIEF Fiedgs Sohavg ad 8 #1

(3) drftEfE Fiege NeFEd Fege o @ FH
FXAT

(4) (1) 31 (3) T #1
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60.

61.

62.

63.

Which of the following is/are vapour phase
refining :

i. Van Arkel method

ii. Zone refining

iii. Mond's process

(1) Only i

(2) Only ii

(3) Only iii

(4) Both i and iii

Which is correct statement :

As the s-character of a hybrid orbital decreases.

i. The bond angle decreases
ii. The electronegativity increases

60.

61.

The bond length increases

iv. Size of orbitals increases
(1) i, iii, iv

(2) i, iii, iv

{(3) i, ii

(4) All are correct
Electrode potential for Mg electrode varies
according to the equation :

o 0.059 1
Fwg mig =Eug-img ™5 109 2+,

The graph of Eng: /pig Vs log [Mg#]is :

T
t
{(n £ @ F
UJE
. logMg" ]—
log[Mg™ ]—
t / )
(3) u @) iF
log[Mg"]—> logMg™]—

The number of electrons required to balance the
followng equation is :

NO,"+4H' +e” - 2H,0 + NO
{1 2

{3 3

62.

63.

e A i ar e gfesor @ ke 2
i. di #rdha

ii. i ReprgfAr

iii. @ fay

(1) #19 i

() AT i

(3) @ i

@) 2 i3 i

e FA ¢

FHL Hlfdeel & sTTEIT e W]
i. e Sy Hedr 8

i. faga wonerEar gedt @
iii. 3 g T@dl B

iv. 3nfdes FT aEe Tl B

(1) i, iii, iv
@) i, iii, iv

3) i, i

(4) I a9 g9 ®

Mg Saagis & faT sdagls e Sl & Jgar
Jeod] WAl ?

0.059 1
24 = o - 5
Emg* Mg EMg"IMg 5 o8 Mg2*]

Emg: /Mg Vs log [Mg?] 3T I 21

T

f

M 3 @
i -

log[Mg®

T T og[Mg" ]

! / !

@ @ -
log[Mg™']— log[Mg“]—

& SRar B A HA D e srazgs gl
F T ?

NO,” + 4H* + &~ — 2H,0 + NO
(1 5 2 4

@ 3 @) 2
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64.

65.

66.

67.

Metaphosphoric acid can be prepared by :

(1) Heating phosphoric acid

(2) Red P, + alkali

(3) Phosphorous acid + Br,, heat in a sealed tube
(4) All of these

Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason
(R).

Assertion(A):
Atomic Radius of Ga is less than that of Al.
Reason(R):

Ga has presence of d electron which causes poor
shielding effect.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct but (R) is not the
correct exaplanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Ethylene dichloride and ethylidene chloride are
isomers. Identify the incorrect statements.

(a) Both the compounds form same product on
treatment with alcoholic KOH.

(b) Both the compounds form same product on
treatment with aq.NaOH.

(c) Both the compounds form same product on

reduction.
(1) aandb (2) bonly
(3) a,bandc (4) None of these

Arrange the following compounds in decreaseing
order of acidic strength :

COOH COOH
A OCH, B.
OCH,
COOH
COOH
C. D
OCH.

64.

65.

66.

67.

ACTHIERIRE JF AT o Ghar @
(1) TR 3 1 T/ e |

(2) @ P, + &R

(3) IR 3R + Br,, Uk I dieT oge A
(4) 3T w9

A Fy Ry g & & (A) IRTR
FROT (R) & &9 & d=er Tohvar wmar 21

49 (A):
Ga =l qu] Frear & AIS = B 21
ST (R) :

Ga® ¥ d3aiagid © forad gofa uReeror v slar
21

Iy wYAl @ gy A, A RY e el # 4 ued
IJIFT I F 999 A :

(1) @ (A) 3 (R) 921 & <ifef (R) 921 arer <91
2 (A)

(2) (A) B ® difehT (R) @81 151 2
(3) (A) T T8 2 wfae (R) 981 2
(4) T (A) 3R (R) W8 & 3 (R) T8 SR 2 (A)

wrgelF S EIge AN CHEed Faluse guregdl
21 M & @ vad S &) yeaifad

(a) 2! AifiTer CenlEiferes KOH & |y if¥ifear e
IR 39IE 2d @

(b) =1 Gifirer Sieflg NaOH & |y aiftifran &
IR 3IE 2d @

(©) <t gifirer U= 9 ERF I1E S 8

(1) a3t b (2) bFad

(3) a, b3 c (4) IWFT @ G 2
feafofaa ifirenl 3 sl art= &1 gear #0 2 -

COOH COOH
A. OCH, B.
OCH,
COOH
COOH
C. D
OCH,

() B>D>A>C
(3) A>B>C=>D

2) A>B>D>C
4 D>B>C>A

(1) B>D>A>C

(3) A>B>C=>D

2) A>B>D>C
4 D>B>C>A
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68.

69.

70.

.

Best method for preparing primary amines from
alkyl halides without changing the number of
carbon atoms in the chain is

(1) Hoffmann Bromamide reaction

(2) Gabriel phthalimide synthesis

(3) Sandmeyer reaction

(4) Reaction with NH,

Among the following amines, the strongest
Bronsted base is

NH,

1) ‘ﬁ\J @) @—NHCHW
3) Qw ) @—CHzNH?

Which of the following is least stable carbocation:

+
CH

2 CHh
(1) ) CEF,
+
os GH:
CH,
3) @ (4)
OCH-] OC }_'3

Match the polymers given in Column | with their
chemical names given in Column II.

Column| Column Il
(i) Acrilan (a) Polycaprolactum
(ii) Natural rubber (b) Low density
polythene
(iii) LDP (c) Polyacrylonitrile
(iv) Nylon 6 (d) cis-polyisoprene

(1) ic, ii-d, iii-b, iv-a
(@) i-a, ii-d, iii-b, iv-c
(3) i-c, ii-b, iii-d, iv-a

() i-c, ii-a, ii-b, iv-d

68.

69.

70.

7.

speel 3 A1 1A & PR 9o g, Gfcehd 2args A
rafis ¢fie s < 99 sl fafir 2

(1) BT TS iR

(2) et SeirrEs Howoy

(3) Far afvifekar

(4) NH_#& sifferan

T @il 3 & @l 99l gad 9l ER @

NH,

(3) oh @) @—cH,NH;
Frfaiad ¥ 9 998 &9 @18 SEiDeE B

+ +

CH, CH,
(1) @ 2) @OCW

+

N CH,

CH,
(3) @ )

OCH, OCH.

Frer 13 28 a1¢ sges &l wed 11 123 1w wafes
A 4 Fresy -

T | FHa |l
(i) wHhlT (a) dichadidecH
(i) gl @Y (b) =¥ = Yieli¥iiA
(iiii) LDP (c) feleTEalinaeTse
(iv) 5T 6 (d) TaiismEag

(1) i-c, ii-d, iii-b, iv-a
2) i-a, ii-d, iii-b, iv-c
3) i-c, ii-b, li-d, iv-a

@) i-c, ii-a, iii-b, iv-d
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72,

73.

74,

75.

76.

Identify the correct statement regarding entropy:

(1) At absolute zero temperature, the entropy of all
crystalline substances is taken to be —ive.

(2) At absolute zero temperature, the entropy of a
perfectly crystalline substance is taken to be zero.

(3) At absolute zero temperature, the entropy of a
perfectly crystalline substance is taken to be +ive

(4) At 0°C, the entropy of a perfectly crystalline
substance is taken to be zero.

Which of the following is not a sulpha drug :
(1) Sulphapyridine

(2) Prontosil

(3) Nardil

(4) None of these

Statement | : Acidic strength increases in the order
given as HF < HCI < HBr < HI.

Statement Il : As the size of the elements F, Cl,
Br, l increases down the group, the bond strength
of HF, HCI, HBr, and HI decreases and so the acid
strengthincreases.

choose the correct answer from the options given
below :

(1) Statement | is incorrect but statement Il is true.
(2) Both statement | and statement Il are true.

(3) Both statement | and statement Il are false.

(4) Statement | is correct but statement Il is false.
Co-valency of nitrogen in N,Q, is :

(1 2

12): 8

(3) 4

) 5

In the following reaction

2NaNO,+2FeSO +3H,S0 —
Fe,(50,),+2NaHSQ,+X+2H,0

X will be :
(1) NO, (2) N.O,
(3) NO (4) N,O,

72.

73.

74.

75.

76.

gt @ g9y A | FAA A e W

(1) T2 9= AT T, 9 fhreeg el & e
I HITHF A4 forar S 2

(2) W Y AFH R, T T e wrd 6
T T I AT S R

(3) TG I ATRIE R, @i Ul foheeetiy gerd &
TR +ve AT HGT 2 |

) O°Cq§1ﬁﬁrfz?ﬁqwﬁaﬁ@ﬁr3ﬁwm
I # |

e A @ &l A wehr g A€ 2

(1) FSEMEASH

(2) T

(3) ARfEe

(4) =TS T

FyF - | 3 ofr o 3 1 s X gfe B
HF < HCI < HBr < HL.

FYF- || : 9l & JAEHR & &9 4 F, Cl, Br, 13 @95
A i =Y X W W Teqr 21 U uqfF HF, HCl,
HBr 3¢ HI &l sl @ 3t sivefla sift sigdl 21

AR RA T R ¥ @ Fua w® gFg:

(1) &9~ | 3187 Afehed T4 - (197 2

(2) FIF- | 3K T~ 11 a9 2

(3) FIA- | 3K FUT- | 2H 3 B

(4) FHA- |9 3R F24T - || 36 F

N,O, ¥ AATECIoId & ¥e@dlarehdl © :

(1) 2

() 3

Q) 4

(4) 5

Frfefaa aifiirar ¥ -

2NaNO,+2FeSO,+3H, SO, —
Fe,(SO,),+2NaHSO, +X+2H,0

XEH:
(1) NG, (2) N,O,
(3) NO 4) N,O,
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77.

78.

79.

80.

81.

In which one of the following arrangements the
given sequence is not strictly according to the
properties indicated against it :

(1) CO,<Si0,<8n0,<PbO, - Increasing oxidizing power

(2) HF <HCI<HBr<HI — Increasing acidic strength

(3) H,0<H,S<H Se<H Te — IncreasingpK values

(4) NH,<PH,<AsH_<SbH,—  Increasingacidic character

In which pair of ions both the species contain
S-Sbond:

(1) $,0,-8,0*

(2) 5,02,8,07%

7 2

3) $,0,5,5,0.7

4> 1

4) §5,07.5,0>

Cr** make a complex [Cr(NHa)xCIy]"2 What are the
value of x and y respectively :

(h 1,3

(2) 5.1

(3) 4,1

4 1,4

The variation of the boiling points of the hydrogen
halides is in the order HF > HI > HBr > HCI.

The higher boiling point of hydrogen fluoride is
due to:

(1) There is strong htydrogen bonding between HF
molecules.

(2) The bond energy of HF molecules is greater than in
other hydrogen halides.

(3) The effect of nuclear shielding is much reduced in
fluorine which polarises the HF molecule.

(4) The electronegativity of fluorine is much higher than
for other elements in the group.

The conversion of ‘X’ to Y’ follow second order
kinetics. If concentration of ‘X’ is increased to three
times. The rate of formation of ‘Y’ will be :

(1) 2times
(2) 4times
(3) 4times
(4) 9times

77.

78.

79.

80.

81.

Frfeaa o @ fa sEen o Rar mar &9 3a@ ars
<Y e IO & FUR |6 6 2

(1) CO,<Si0,<Sn0,<Pb0 - sl e A afg
(2) HF <HCI<HBr<Hl — 3% amam 4 4fa

(3) H,0<H,S<H,Se<H Te — pK_&T dgT M9

(4) NH,<PH.<AsH.<SbH, — 3Rl I < T

<A yenfadl & AqEA & fe i A S-S Bl
B

i) 80507

2 B OB UF

(@ §,0%,8,0%

@ S,0%,80%

Cr us Fwded [Cr(NH,) Cl |2 aar 2, x 3R y

HAIT: Bl

(M 1.3

) 5.1

3) 4,1

@ 1.4

BI5gioH damgsl & FaUATA A URax &1 w9 2

HF > HI > HBr > HCI.

BISSIO FellNIgE HT I FaoIh 8 :

(1) HF SOI3 & e Ao BTESom & 2 21

(2) HF A3 & a4 Fofl 3= Bgaoe & o A
st 2 21

(3) AR I T GUET T TR TR FH Bl S #
S HF 3197 &7 YT aZer 21

(4) AR &1 I R wE W 3 el 3 Te
¥ FE Ffee B

X &Y wRor fadig e sifdfear 21 afe e

AT Sl 3 AT JeT fear 9| at Y’ & 91 &) < sl

(1) 2times
(2) 4times
(3) 4times
(4) 9times
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82.

83.

84.

85.

Correct statement regarding CO is :
A. ltisusedin Mond's process
COis a poisonous gas

CO molecule act as doner

O om

After reaction with NaOH at high temperature
and pressure it forms organic compound.

(1) Aand B

(2) BandD

(3) A,BandC
4) All are correct

Which Cl, gas reacts with cold and dilute sodium
hydroxide solution, the oxidation number of
chlorine changes from :

(1) zeroto +1and zeroto -6
(2) zeroto—-1andzeroto +5
(3) zeroto—-1and zero to +3
(4) zeroto-1and zero to +1

Correct statements for XeO,F, will be :

A. hybridisation of Xe is sp*d®

B. geometry of molecule will be sea-saw shaped
C. 2prn-dnbonds are present in XeO,F, molecule
D

. there are one lone pair on Xe in XeOQ,F,
molecule

(1) B,CandD
(2) A,B,CandD
(3) BandD
(4) A,BandD
The number of non polar ¢-bonds in caro's acid is:
(1) 1
2) 2
(3) 1
(4) 6
SECTION-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

82.

83.

84.

85.

co = forg | = 2

A. g8 W= gfshar o ygad sidl 2

B. COuw fadell #a 21

C. COJY @l &l e okl hitd 3

D. 48 NaOH3=d |19 a1 <[« W Affhar & qyvama

F - gt s-ar 2
(1) ASRB
(2) B3iRD
(3) A, B3R C
@) I o= 98 7

aiF 4 c1, 39 39 S o Aifkaw s A
& a1 3iTlhar el 21 a4 ol sradictor g §
qRadq glar 2 ¢

() T +13 TTH -5

(2) I H -1 3% T H +5

(3) I & —1 3K T & +3

(4) I A -1 HR T A +1
XeO,F, & Tow acq & 2

A. Xe @[ Gehev] spid?Ehm

O] =t S A -t s

C. XeO,F,¥ 2 pr-prar &3

D. g;cr)ZFzsmi)f Xe W U MG gaag g

o

(1) B,C#it D

) A, B,C3RD

(3) B3 D

4) A.B3RD

Hdr 3l A TR 3rya Fa = ot g B

Hus-B

Zg @ve ¥ 1593 2| qdemeff 39 15950 ¥ 4 i
1095 & GhdT 2 | gfe qiemit 109 st 9o &1
IR 31 & a9 5 R g¢ T 10954 &) W=y Bl
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86.

87.

88.

89.

90.

y
For the reaction CO(g)+E 0,(g) — CO,(g), AH and

AS are +283 kJ and +87 J K-* mol-' respectively. It
was intended to carry out this reaction at 1000,
1500, 3000 and 3500 K. At which of these

temperatures would this reaction be
thermodynamically spontaneous :
(1) 3500K

(2) 3000 and 3500 K
(3) 1000, 1500 and 3000 K
(4) 1500, 3000 and 3500 K

In which of the following compound both pr—pn
and pr—drn bonding is present :

a. SO, b. NOS-
c. CO-- d. SO
(1) aandb

(2) a,bandc

(3) a,b,candd

4) Onlya
O/\é
‘P’ will be :

OH
o (I o (I,
OH

@) O*/ @) O’v

40 mL of 0.1 M ammonium hydroxide is mixed with
20 mL of 0.1 M HCI. What is the pH of the mixture :
(pK, of ammonia solution is 4.74)

(iYHgIOAC) {THF /H.O
iy NaRH, /OH P

(1) 4.74
2) 2.26
(3) 9.26
@5

250 mL of a Na,CO, solution contains 2.65 g of
Na,CO,. 10 mL of this solution is added to x mL of
water to obtain 0.001 M Na,CO_ solution. The value
of xis :

(Molecular mass of Na,CO, = 106 amu)
(1) 1000 (2) 990
(3) 9990 4) 90

86.

87.

88.

89.

90.

Fifrar CO(g)+% 0,(g) —» CO,(g) & fag AH IR AS

HAI: +283 kJ AR +87 J K" mol"' & | g5 Fildifran

1000, 1500, 3000 T 3500 K9 s @Rl 8 | IR
A § A FH A a9 ) AR @ 9Raakia shi:

(1) 3500 K

(2) 3000 3fi% 3500 K

(3) 1000, 1500 3fi¥ 3000 K
(4) 1500, 3000 37X 3500 K

Frfefaa ¥ @ fre® pr—pn IR pr—dr a1 9l
1

a. SO,
c. CO—-
(1) a3itb
2) a, b3k c
(3) a, b, c3ikd
(4) % a

(HOA, THE O b

=
[y MNaBH, /OH

b. NO;
d. SO~

@) O*’ @) ON

40 mL, 0.1 M 3Pl BTggraTss &l 20 mL, 0.1 M
HCI3 frermar wrar | fsior &1 pHERT (SifAar faema
&l pK, =4.74)

(1) 4.74

(2) 2.26

(3) 9.26

4) 5

Na,CO, & 250 mLfq@g ' 2.65 g Na,CO 21 34
faemm & 10 mL &t x mL 5@ & Frams 0.001 M
Na,CO faeia=T s=rar 411 x =T A B :

(Na,CO, sl HYHIX = 106 amu)
(2) 990
(4) 20

(1) 1000
(3) 9990
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91.

92,

93.

94,

A solution containing 10 g per dm® of urea (m.w. =
60) is isotonic with a 5% solution of a non-volatile
solute. The molecular mass of this non-volatile
soluteis:

(1) 2560 g mal™
(2) 300 gmol~’
(3) 350 g mol’
(4) 200 g mol™

What current is to be passed for 0.25 sec for
deposition of certain weight of metal which is equal
to its electrochemical equivalent :

(1) 4A
(2) 100A
(3) 200A
@) 2A

In the reaction :

©+CH30HZCHZCI e

the major product formed will be :

CHEMEH,
o

CH.

" @,éHCHf
L,
@) CH.-CH,

(4) All of these
The equilibrium constants of the following are :
N,+3H, =2NH,; K,
N,+0, = 2NO; K,
H,+ ;— 0, =H,0; K,
The equilibrium constant (K) of the reaction :
ONH, + 2 0, . 2NO + 3H,0 will be
3 2 2 ~— 2

(1) KKK,
(3) KK /K,

(2) KKK,
(@) KK3/K,

N.

92.

93.

94.

10 g 9fa dm* gfar (m.w. = 60) &1 faeas v 5%
Aarodfarer fady & faega 4 gagaah 2 13amsyslie
facra =T SR B ¢

(1) 250 g mol™
(2) 300 g mol™
(3) 350 g mol
(4) 200 g mol™

T Ul & [REIeE & TR IR Ja8fT :0 &
fog 0.259%h—= 9% qaIfed URT 7 I S :

(1) 4A
2) 100A

©+CHBCH2CH26I e,

T IIE B

@,CH?CHQCH;

CH.

@ éH—cm

(4) IRIFT 9

Ffefaa o a/g fuaa 2
N,+3H, = 2NH; K,

N,+0, =2NO; K,

H,+ %Ozv—:HZO; K,

2NH, + goz . 2NO + 3H,0 Fifsifrar & fare @
feergan (K) &Rmi

(1) KKK,
(3) KK, /K,

(2) KK,/ K,
(4) KKK,
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95,

96.

97.

98.

Which among the following compounds behave
both as an electrophile as well as a nucleophile :

i. CH,=CH, ii. CH,=CH-CH,
9 . 7

ii. CH-C-CH, Iv. CH.—C—ClI
(1) onlyi

(2) iand i

(3) iiiand iv

(4) ii, iii and iv

The solubility of AgCl in 0.2 M NaCl is
[K,, AgCl=1.8 x10™""]

(1) 1.8x107"M

(2) 9.0x10'""M

(3) 6.5%x102M

4) 56%10"M

OCH,
Me,C-Cl _y ClFeCly .\, HBA
AlCI,

The final product Z is :

OCH,
Me.,C

OCH,
@ Br’@i(]

Kjeldahl method for estimation of nitrogen is not
applicable to :

(1) pyridine
(2) hexamethylenediamine
(3) propan-1-amine

(4) 2-phenylethanamine

95.

96.

97.

98.

e & @ sl -ale 4 wanfa <AL, gdaiaEE) ga
AREHEE & a1 EER HT

i. CH,=CH, ii. CH,=CH-CH_*

i
CH.-C-CI

ii. CHE—(U,—CHH iv.
(1) Fae i
(2) i 31 i
(3) i ¥ iv
(4) i, iii 3¢ iv
0.2 M NaCI® AgCl =i} faetgar et :
[K,, AgCI = 1.8 x10"]
(1) 1.8x10"" M
(2) 9.0x10-"°M
(3) 6.5x10°2M
(4) 5.6x10"" M
OCH,

Me,C-Cl
AICH,

Cl,. FeCl, HBr,A

X ]

sifas Iod1e Z8hm -

OCH,
e
Me,C

Cl

/©:Br
@ Me,C Cl
I
) Me.C |
OCH,

@ Br’©:(3|

Sieeter faftr grT egioe & uitewr, A & 9 foaa
foe & 2

(1) IS

(2) BRI
(3) U108

(4) 2-F AT
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99

100.

Assertion. In any ionic solid [MX] with Schottky
defects, the number of positive and negative ions
are same.

Reason. Equal number of cation and anion
vacancies are present.

(1) If both Assertion & Reason are True & the Rea
son is a correct explanation of the Assertion.

(2) If both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion

(3) If Assertion is True but the Reason is False

(4) If Assertion is False, but reason is True.

Graphs between pressure and volume are plotted
at different temperatures. Which of the following
isotherms represents Boyle's law as PV =
constant? (T >T,>T,)

(1) Only (ii) is correct representation of Boyle's law.
(2) Only (iv)is correct representation of Boyle's law.
(3) Allare correct representation of Boyle's law.

(4) None of these representation is correct for Boyle's
law.

99

100.

F : afe Rl st S MX]T mea v e g
s AN F2oImcaeh A ) awr 9 Bl 2|

TR : FAH 96T & YA 3R F=0E Sl
Jufkera shdr 21

(1) e F4F 31X FROT 241 G F X FROT FHT A
FE S FAT 7

(2) dafe 9T #AR FRT A9 GG 1 FRY, FHT &
HE R A FAAT B

(3) =T Fue w=g, AfFT FROT 3 2
@) afE F2q 3@, Al FRoT A9 2

T N JEOH & M4 & ATHI i QR d9dEl 9
©i=r r 21 s F | wie 9 gaandt sige @ o
FI PV =Tgaid & w1 & g @ 2(1,>T,>T)

i b \&

T,

V—»

i, pI/ £- iv. Iogg’ \

logV —»

(1) 99 = e 7 1 (i) T e 9dl #

(2) diget & g &1 shael (iv) 9ren Hego 98 2
(3) Fiael F FFaw & @i e a8 7

(4) sfaet & s & 2 feqol § & i < w@dl 49 2
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TOPIC : FULL SYLLABUS (MODEL)

PART-1 (SECTION-A)

Attempt All 35 Questions

101.

102.

103.

Water potential of a given cell A is =15 Pa and
another cell B having water potential -13 Pa.
Water will mainly move from :

(1) AtoB

(2) BtoA

(3) Both direction

(4) Information incomplete.

Given below are two statements
Statement I:

Pinus seeds can not germinate and establish with out
the presence of mycorrhizae.

Statement Il :

The cohesion and Adhesion are chemical properties of
water.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement I:

Blood is the medium of transport for O, and CO,
Statement Il :

Myoglobin is red coloured copper containing pigment
present in the RBCs.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement |is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

MAT-1 (@US-A)

¥ 3595 a9 €

101.

102.

103.

Ueh SHITM A S Tiel 89T -15 Pa 3ilX 5@t &iam B
STl &1 13 Pa 31 oidt &gd: g i e -

(1) A9 B

(2) B¥A

(3) FFr feamatlr #

(4) T YT 7

T faw g @) w2
FYA - | :

TZ T ST g g 1 SUEET & AT sfemfa el
BT AT 7

HYU -1l :

FEATH 3T JEAT Tl T TEEAE 07 BT F
=i fov famedt & 4 98 SR 9A

(1) @90 &9 | 3R FHT || TAT B

(2) FIF | FEl T A | T B

(3) T 171099 7 W] Fo 11EE 7

(4) TFN FHF | R FT (T F

- feg g < W P

HYF -1 :

T O,31% CO, & uiede & fore Hres =1 W el 2 |
FUF -1 :

AERAIEA A AT FR T A a0 2
RBCs # 3qffu 21

9 oy fasreat #9498 IR 9
(1) 291 &9F 130 5 17T 8 |

2) Fo 1EE T YA | T 7

(3) FU |9 B e A 1IEE B

(@) T FUA 1R T N F
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104.

105.

106.

Given below are two statements
Statement |I:

Carbonic anhydrase present in RBCs at a very low
concentration.

Statement Il :

Carbonic anhydrase present in plasma at a very high
concentration.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

Given below are two statements
Statement |:

The role of oxygen in the regulation of respiratory rhythm
is quite Insignificant.

Statement 1l :
Emphysema is a chronic disorder.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement 1l is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct
Given below are two statements

Statement |I:

Adrenal gland is composed of two types of tissues-
Adrenal medulla and Adrenal cortex.

Statement Il :
Human body has two pair of Adrenal glands.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

104,

105.

106.

4 e g @t wuq €
g -1

FEIAF TAEEEd RBCs § @8 &9 @rsdl ¥ 3ufedd
BT

4y -1l

FEAHE GARISS ATl ¥ a8d e s 33Ut
B2

i v fawedt & @ 98 S 9
(1) 291 &9 |30 F5 || TAT 2
(2) FUF | FE ] FHH | T 7
(3) FUF | 7T B I FUA |IEET 2
(4) =1 FH | AR F FE R
M fag e @ w2

FU -1

ST #1 e vaa o & (e # 95 o ARcian
2

&Y -1l :
oEFREEE v FeReTiere A9 F
A e fawent o A €€ IR g

(1) =FN F9F 3R FoT T #

) F9F | FE e 4 || T B
(3) T4 17T & T T EE 2
(4) I FEA | IR FA N B

I few e @ Fua 2

FU -1

Y -1l:

HAFE IR F T S AL I A B 2
A foe fawen & @ @ IR 9o

(1) a9 F9F | 3R T || 2

@) FUF | R F T 7

(3) FF | e ® g FEA 1IEE 2

(4) T FHT | HR F 11FE 2
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107. Select the Incorrect statement for the given | 107, Rv v R = forw I &y &1 994 61
Diagram:

(1) g2 S0 o Jufeya 21
(2) TE TR FIIrRT & IufeT 2

(1) Itis presentin E.coli

(2) Itis presentin mammalian cell

(3) ltis related with DNA and Histone protein (3) &% DNA SR fewelF Wi ¥ wwifeerd 21
(4) ltis related with packaging of DNA helix (4) 81 DNA v & denfm & wwafees 2
108. Which one of the following matching is Incorrect: | 10g. fw=fafaa % @ =t & JIgETar waa 21
(1) Sigma Factor — Transcription (1) Towr e — e
(2) Rho factor — Transcription (2) AV FRFH - aﬁﬁqq:[
(3) CappingandTailing — Transcription (3) R 3R T=e4 — 3
(4) E.coli —  Splicing process takes 4 T§0 Eﬁl?*ﬂ% B EIFGEI [F a2 Tk
place. BRIEL
109. Which one of the following matching is Incorrect : | 109, fFr=feiRag ¥ 4@ =i @ YT Teid 2
(1) Release Factor — Translation (1) fadis FRE _ @"’ﬂﬁ?ﬁ
(2) UTR — Required for efficient
translation process (2) UTR — Ol giear ke &
(3) Charging of -RNA — Aminoacylation of fore smawae 81
PRNA (3) tRNATT SEEFRT  —  t-RNAT GhHefae
) Lacoperon = Onlyregative (4) o I —  Fad I [T
regulation
110. Given below are two statements 110. 1R few WY < o @ -
Statement |: FIT -1

The h_uman genome project was a 13-year project A A 9 3 L arAer 1 TR meied)
coordinated by the U.S. Department of energy and the

national Institute of health. ol TN & G T W 2R ST I o7
Statement Il : YT -1l

The chromosome 1 has most genes (2968) and the Y VRS 1 HEiee W9 (2968) T Y IUET § F94 FH ol
has the fewest (231) (231 fira 21

Ch h f h i i -y -

belc())c:vs:e the correct answer from the option given 9 foy Red ¥ @ 48 seae oA

(1) Both Statement | and Statement Il are incorrect M A A 1S F 119

(2) Statement | is correct but Statement Il is incorrect (2) T 1E8 T FU 1T E

(3) Statement | is incorrect but Statement 11 is correct (3) &u |9 & W] U 1198 2

{(4) Both Statement | and Statement Il are correct (@) T A | 3N F EE 2
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1.

12.

113.

114.

Given below are two statements
Statement |I:

DNA finger printing involves identifying differences in
some specific regions in DNA sequence called as
repetitive DNA.

Statement Il :

Depending on the base composition (A :T rich or G:C
rich), length of segment and in number of repetitive units
the satellite DNA is classified into many categories such
as micro-satellites ,mini-satellites etc.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement [l is correct

(4) Both Statement | and Statement Il are correct
Assertion (A): AUG Codon has Dual function

Reason (R) : AUG codes for glycine, and it also act
as Initiator codon

(1) Both (A)and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false
(3) (A)is false but (R)is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

In plants morphine is obtained from
(1) Seed

(2) Root

(3) Leaves

(4) Latex

In which type of barriers under innate immunity
do the skin and mucus membrane belong:

(1) Cellularbarriers
(2) Physiological barriers
(3) Physical barriers

(4) Cytokine barriers

111.

112.

113.

114.

L ERCE I T -
S -1

DNA fEaRfif=er % DNA s & g e fafire s
& A9 fafr=ar &1 9 @ 21 g i DNA
Fed B

Y -1l :

B HEET (A TH TR 3941 G:CH Y=0), @ve| o) w/ars
9 Yl ST & SMUR W AT, e
gife W e fapar 21

- for fawent & @ w8 SR A

(1) 2Rl F99 1 3R F24 1179 2|

2) FAF | TR T | T E

(3) U |9Teid & W] U 11EET 2|
(4) A1 FHF | 3R FT FE E

Y (A): AUG SIsi 2180 &1 o 21

HTT (R) : AUG T4 &1 e @A el 81 3R 48
T IIHE Jahe B &9 I HR il 21

(1) (A) 3R (R) ST @91 & wfdh (R) ¥8r aame =41 &
(A) =T

2) (A)EE E Al (R) T &

(3) (A)TT & SR (R)EET &

(4) (A)3I (R) =T @& 2 3R (R)WEr @ra) & (A) &l
Mt gte A fred ferer omar 2

Ok El

(2) w8

(3) =i

(4)

Bl ITaREN & Sl oI AR Fohd fareell fohe TR
& AU Bid B -

(1) g Ay
(2) =g Aar
(3) it Ay
(4) ArECIRE AU
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115.

116.

117.

How many matching are correct with reference to
evolution :

a. First cellular forms of - 2000 mya
life appeared

b. Invertebrates - 5000 mya

c. Sea weeds - 320mya

d. Jawless fish - 350mya

e. Dinosaurs suddenly— 165 mya
disappeared from
earth.

(1) 4

2 3

3) 2

(@) 1

Given below are two statements
Statement |I:

Morgan carried out by several dihybrid crosses in
Drosophila to study genes that were sex-linked.

Statement Il :

Morgan observed that the two genes did not segregate
independently of each other and the F, ratio deviated
very significantly from the 8 :3 : 3 : 1 ratio (expected
when the two genes are Independent)

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

Inheritable mutation can be studied by generating a
pedigree of afamily.

Statement Il :

Some mutation involve change in whole set of
chromosome (Polyploidy) or change in a subset of
chromosomes number (Aneuploidy) .

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement |l are incorrect
(2) Statement|is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct

115.

116.

117.

Fratl apeuar ofa fAem & i A e 2

a. g & 9T HTHE -
¥ Iq~ §A

b. Jrhsedl silg

c. Y WUFAR -

d. wes Rd a=edl 2

e. SHER A T
& A 5

(1 4

@ 3

@ 2

4) 1

Sy -1

forr wme S & stea B AGH A R i w3

feras i faw

SYA -l :

HAA A <] o 3 2 04 S v g 4 @de gl
52 3 F, & 39T 9:3:3 19 1 i e (|1
SIHT & T A TR AT St o)

= ey et & 4 wd I A
(1) 91 9 |3 FH | TeT B

2000 mya

5000 mya
320 mya
350 mya

165 mya

@) T | T A T B

(3) T |9 B R U 119 B

(4) 21 FUF | SR FAT FE B

4R Re e @ w2

g -1

FANTT IARAA! =l Fead e aAH fohar S gahell
2l

Gy -1l:

e IAa VA aqesd & qRadq 4 g ar
30T HTIT § (STEAET ) T B oA 7

-4 fer fawedt & 4 W SR A
(1) FF YA |3 FY 11 TAT 2

) T | EE A A T B

(3) FU |9 B W FUA |G B
@) 2N T | FR F I R
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118.

119.

120.

Given below are two statements

Statement |:

James Dewey watson was born in chicago on 6 April
1928. In 1947 he received M.Sc Degree in Botany.

Statement Il :

Francis Harry Compton crick born on 8 June 1916, at
northampton, England.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement|is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement Il are correct
Given below are two statements
Statement |[:

Law of segregation is on the fact that the alleles do not
show any blending and that both the characters are
recovered as such in the F, generation though one of
these is not seen at the F, stage.

Statement Il :

A homozygous parent produces all gametes that are
similar while a Heterozygous one produces two kinds
of gamete each having one allele with equal proprotion.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement|is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

Besides the Involvement of multiple genes polygenic
inheritance also takes into account the influence of
environment.

Statement Il :

In birds females have one Z and one W chromosomes,
whereas males have a pair of Z chromosomes besides
the autosomes.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement 1l is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement Il are correct

118.

119.

120.

L ERCE I T -
g -1:

I S ATCEH & ST 6 3o 1928 % FRRl § B3 o
T 19479 T=M a et fase faua % M.Sc. 31 3t
TBI Al |

S -l

wifeE 25 e Te fhan o1 S gael=s & AT e |
85 1916 % 3T 1|

A Ry REat ¥ & ¥ I g

(1) 2Fl F9F 3R o 1T §

@) T | E T A T B

(3) FF | 7T & T U 1IEE 2

(@) < A | 3R FUA |G 2

Sy -

fEae I o 3R 9% T § fF vee s A
Rl 1 e ) O T e i o ) B D IR B
ifrefer 21 I 2, s A F 9 A o gehe A A
gaftt seerl A S gellet faeene 29 2

Sy -l :

v BMIGIETE W9 g 3o @ g a9 B B
SR REXSTEIE e 2 TR & gEd Ie0= el 7 |
4 e e & @ @ IeR T

(1) 2FN F9F 3R F2 1T #

) T | FE R FH | T B
(3) T |19 & W wue |1EE 2
(4) <1 &A1 3R FAA | aE 2
AR ey e @ e E

D -1

I S & mfae B @ Al ageie aumfa &
TR & THE T 9T S 2

ST -l

A ¥ AT F v Z FR] v W U BAT E T R
¥ 3ifrr qUEAr F 3EET Z e = UE e A 2
A Ry Aae) & A ¥ I g4

(1) < & |3 ST AT 2

(2) FIF | FE ] FHA | T B

(3) FUF | TTeld & I YA 1IGE 2

(4) @ FAF | FUT 11FE F
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121. Which of the following is correct statement:

(1) Theinner boundary of the cortex, the endodermis,
is impervious to water because of a band of
suberised matrix called the casparian strip.

(2) Mycorrhiza is parasitic association

(3) Dicot leaves are also called isobilateral leaves

(4) Movement of sucrose from phloem sap into the
cell is a passive process.

122. Tetrad is made up of :

(1) Four homologous chromosomes with four
chromatids

(2) Two homologous chromosomes, each with two
chromatids

{(3) Four nonhomologous chromatids
(4) Fournonhomologous chromosomes
123. Mitotic cell division occur in
(1) Diploid somatic cells in animals
(2) TMV
(3) Bacteriophage
4) All of the above

124. Which of the following statements are correct
about G, Phase :

(i) Cell is metabolically highly active
(ii) Continuous growth of the cell

(iii) Replication of DNA

(1) iandii are correct

(2) Only iiis correct

(3) i, ii and iii are correct

(4) iandii are correct

125. Select the correct option for the given diagram:

C|:OOH

H—C—NH,
I
CH,

(1) Alanine — Carbohydrates
(2) Alanine — Lipids
(3) Phenylalanine — Amino acids

(4) Alanine — Amino acids

121. fFrafefRaa ¥ @ sl ar s 2 -

(1) F=gc &1 FnaRes 99, Jd:7ar, I F 9 mEeg
B 21 e gaferr Afeea & R A R A
et FEr S 2

(2) WA GEAIET T &
(3) e ufemy = aafamed o< o = B

(4) FIST T FACH T § FHIEHT H AT O AT o
2

122. Ish a1 T 2
(1) ¥R FAfega & 9y =) a9 FrEEE
(2) = HHEH FAEH, TF < FHICS F AT
(3) ¥R A FHfE
(4) ¥ FFEAAT OET
123. TAGAT e [T Fef il @
(1) =33l =1 feaforT =i whifereer 4
2) TMV
(3) STt
(4) I G A7
124. F=ifeiRad ¥ & G, yraedr & farq i 41 w9 66l 2:
(i) <if3renT Iura=rll &7 A i afey
(i) IfEreRT < gaq 9fa
(iii) ST YA TR
(1) i FAT i &
(2) @Fad i |8
(3) i, ii F i WA B
(@) i3 i w2
125. fod 1 o = fore =<t faereT &t =g Y

(l'jODH

H—C—NH,
|
CH,

(1) TR — e

(2) THFE - e

(3) FATEACAAT — AT I
(4) TARM — 3T 3R
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126.

127.

128.

128.

Read the given example properly -

Morphine, Abrin, Ricin, Gums, Vinblastin,
Anthocyanins, Protein, Nucleic acid.

How many statements are correct :

a. All are belong from same category of
chemical.

b. All have identifiable function.

c. All have not identifiable function at the
moment.

d. All are metabolites
(1) 4 2 3
() 2 4) 1

In our digestive system during digestion of proteins
the given below reaction are takes place :

Protein L Peptones, proteoses L Dipeptide

In the given reaction X and Y are enzyme. These
enzyme are occurs in which digestive Juice
respectively :

(1) X in pancreatic juice and Y in intestinal juice
(2) X and Y both in intestinal juice

(3) Xin gastric juice and Y in pancreatic juice
(4) Xin pancreatic juice and Y in gastric juice

Assertion : In Humans due to non functioning of
parietal or oxyntic cell protein digestion effected.

Reason : Parietal cell or oxyntic cell secretes HCI
that are necessory for conversion of pepsinogen
to pepsin.

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)istrue but (R)is false
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

Auxin originated from ‘auxein’ which is a
word

(1) Greek
(2) Latin
(3) English

(4) None of these

126.

127.

128.

129,

A RA 1 Femel B Sl e & 9 -
I, el I

fpo ST a2

a. @ v & il & W ¥ 9iE @ 2

b. @it ® F@Al & aR & WFA 2|

c. &9 39 9Wg @il & S/ &l A8 AFd 21

d. @ Surr=Es 21
(1 4
@) 2

AR qreFdd 4 WEE & g @ el A
sifdifehar afeq sl @

AT 3, AT — > erderss
70 Fiiforar ¥ X s YRaw 21 a5 e e yee @
WA HA: AT AT
(1) X 31 =@ & 3 Y 3T o9 #

(2) X3 YT Hg 9@ A
(3) X S&T w0 # 31 Y FARA 79 o
(4) X 309 W A SR Y FS @ A

FF A A JUsed JAAl ArREIE R B
gifsharsiiel 817 & FRoT 9 1 e i Bar 2

T : YXTged FAAT AT I hIfEERT HCl &1 aravy
&l 21 ol f Tl & 99§ gead @ fae
AraEF 21

(1) (A) 3R (R)<HT w81 & ofdd (R) @et agren =21 2
(A) =T

2) (A)FE® dfha (R)TeT =
(3) (A)TeE 2 ofFT (R) =8 2
(@) (A)FR (R)SFT 98T 2 3R (R) &4 =amem & (A)

giftera w5z ol Ieafear =T & gam ot ff—— wise
e:

(1) e
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130.

131.

132.

133.

134.

Substances like cytokinin like activity is
(1) Zeatin

(2) 24D

(3) Abscisic acid

(4) None of these

Which of the fellowing auxin is not obtained from
plants

(1) 1AA
(2) IBA
(3) NAA
(4) All of these

Which of the following statement is Incorrect :

(1) Neutrophils secretes Heparin
(2) Basophils secretes vasodilator chemical serotonin
(3) Eosinophils are 6-8 percent of total WBCs.

4) All
Given below are two statements
Statement I:

Increased level of several hormones in human maternal
blood are necessary for maintainence of pregnancy

Statement Il :

In human female Immediately after implantation the inner
cell mass (embryo) differentiates into an outer layer
ectoderm and an inner layer called endoderm.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement 1l is incorrect
(3) Statement|is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

Statement -I- In human the male accessory glands
include paired seminal vesicles, a prostate and
paired cervix.

Statement-lI-The Penis is the male external geni-
talia.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement |l are correct

130.

131.

132.

133.

134,

Al 91 9t @) hansiar fea yerl o 2:
() Garés

2) 24D

(3) vafafas e

(4) ®IE el

Frfolftaa ¥ @ =t ar siferes ool 3 grea 2 fear
TF‘:ITT:}:

(1) 1AA

@) IBA

(3) NAA

@) =50

o & & 9 a1 e T 2
(1) =gkt BRI =1 Graor wea 21

(2) IR AfEFTIERE WET T & GE e
2

(3) sAERITheT - WBCs &T 6 -8 g Bt
(@) =¥

REREE TR

FAT -1 :

AT HET F & A FS B g2 S 21 S
iEEdT il gAY WA 2

Y -l

HIAT HET H AT & T A2 = I G (Y)
TR (VIS ) AME U amd WY 3R st
(TEred) AR v SR T i 2 o 2

R oy fasweat § 9 w8 I T
(1) BFF 99 | 3R o 11T 2

(2) o 1EE T FUA | T B
(3) FFF | e B g FH |19 B
(4) S U | 3R FU 11EE 2

FU -1- g A R geESw A & It o S
1T, UF TET IR e it Aar s 2

FY-11-313 R 918g WA fed 2T 21
(1) F949 | 3] F9 1| 2T 3 &
(2) FF |9 # AT F |l g/ae 2
(3) FU | 39 # AT 9T 199
@) &9 | AR w9 1 A ' A
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135.

Which of the following statement is correct :
(1)

Magnesium is a constituent of ring structure of
chlorophyll

2

Sulphur is not present in coenzyme A and
ferredoxin

Plants obtain iron in the form of Fe*?

(@)

Deficiency symptom first appear in older tissue
whenever the elements are relatively immobile.

PART-1 (SECTION-B)

135.

Freafefaa & & &9 ar v e 2

(1) W FEARMEA 7 9699 9 F OF 90T ©
(2) |oHL FIU-ATZH-A 3 RIS # 3UegT 8 8§
(3) UEY #f1® ] Fe?ah w9 § YT @ed

(4) VT T IS B E A I S8 9 S
gear ke B 2

MAT-1 (Ws-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

136.

137.

138.

Which one of the following is the incorrect match

(1) Mg* - RNA&DNA synthesis
(2) STP - Energycurrency

(3) Iron - Chlorophyll

(4) Chlorine - Anion - cation balance

in cells
In C, plants plasmodesmata are used for transport

of

(a) C,acid from mesophyll cells to bundle sheath
cells

(b)

C, acid from bundle sheath cells to mesophyll
cells

(©)

C, acid from mesophyll cells to bundle sheath
cells

(d)

C, acid from bundle sheath cells to mesophyll
cells

aandd
aandc
bandd
(4) bandc

Photosynthesis is

(1) Endergonic, photochemical, anabolic and reductive
process

(2) Exergonic, reductive and catabolic process
(3) Exergonic, reductive and anabolic process

(4) Exergonic and chemosynthetic process

9 @S A 1595 21 wQerel g 1595 ¥ 4 &g
1095 X Fohdl 2 | i qlerdt 109 st g &
IR A1 2 A v Y 5T T 1095 € A B

136.

137.

138.

fafefaa & & =9 @ agEyEr 199 @

(1) Mg* - RNA& DNAHYT

(2) STP - Soll HaT

(3) A - FARIhA

(4) AT - FEA -4AE
TRt 3 e

C, Y A EHITT T ¥aIT fhaa qRas I giar

8

(@) C,3r= Aliftha Sif¥rTan & qaeae St
e

(b) C,3 Jell=se IR & Alifthd FHifdrman
C

(c) C,3ra Huifther sifIrwEn 4 yarese Hifrws

d%

(d) C, 3 qaTese SRl & Aeifha swifirnsl
aH

(1) a3 d

(2) adiRc

(3) b3 d

(4) b3 ¢

THTI FIAO] B

(1) Foiamst, TEEREEEE, 3TEEl U TTEEE
(2) FoNETR, FTEAEE FAT FTAAT THRA

(3) Zrotardl, FATEAEE T T ThA

(4) Frstard T A S T
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139.

140.

141.

142.

Find the correct statement(s) from the following
statements :

(a)

In plants light saturation occurs at 10% of the
moderate sunlight

(b)

The concentration of CO, in atmosphere is
0.03-0.04 percent

(c)

C, plants show saturation to CO, concentration
at 450 mIL~"

(d) C, plants show saturation to CO, beyond 360

miL~"
(1)
2

Only a, d
Only b
{3) Onlyb, ¢
4) All

There are 10 flowers in one individual plant of
Crotalaria. Each flower has 10 stamens. In each
microsporangium of every stamen of all the
flowers, there are 30 microspore mother cells. How
many pollen grains are formed from that plant:

(1) 4,000 (2) 10,000
(3) 24,000 (4) 48,000
Given below are two statements
Statement I

Hybrid varieties of several of our food and vegetables
crops are being extensively cultivated.

Statement Il :

Production of Hybrid seeds is costly and hence the
cost of hybrid seeds become too expensive for the
farmers.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement Il are correct
How many statements are correct for embryo sac:
a. It represents female gametophyte

b. ltis haploid structure

¢c. The number of cells are lesser than pollen
grain.

d. Filiform Apparatus present
(1) 4 (2) 3
3) 1 4 2

139.

140.

141,

142.

Ry g @yl ¥ A acg wuAl @) gfag

(a) =t ¥ AR & g THE & 10% 4 TR
Ageddr 8 o 2

(b) ardrawer % CO, &1 Eiwvl 0.03 & 0.049fyzr sian
2

(c) C,9rey CO, & 9fa Feadm 450 mIL-" &g W
Tfifa #d @

(d) C,9I9 CO, = 360 miL-" aiftieh W=l R dgeerel
yefiia @ @

(1) ®ad a, d
(2) ®ad b
(3) F94 b, c
@) a1

HICARAT & 99 10 T & TAS 57 & T4 10 That
21 @l qu & yde gHa & Il agaievuE
30 gl AgHIEE 2 39 8 ¥ Fraad g s
&1 fwior ghm)

(1) 4,000 (2) 10,000
(3) 24,000 (4) 48,000
R Ry ag &t a2

Y -

5T ¥ BAN @I Ud 9 FEel d qh R il 3T
TR
HYd -l

Fere it T (10T a5 &1 WE9T B 3R 39 TR e Al
Ft AN gEd & weien 7 e & fo

i fer fawedt & @ @ S A
(1) S 9T | 3 FH (|7 B

2) T | FE T F | T B

(3) FUF |7 # W] T IEE B

(4) T AT | X T | E

R & iy & fog & 2

a. g8 9per BiciwEe o et @ 21
b. dE BWAIE G B

c. IRhIB @) Fer TR A 69 Bl 2

d. EiiEE Syer 3uftud gar 21
(1) 4 @) 3
3 1 “4) 2
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143.

144.

145.

146.

Statement-I- In humans Cardiac muscles are
straited in appearance.

Statement - lI- In humans Cardiac muscles are
Involuntary Neurogenic.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement 1l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct
Given below are two statements

Statement |

Multiload 375 are a type of non medicated 1UDs.
Statement Il :

Lippes loop are a type of copper releasing IUDs.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Match the column and select the correct options :

Column A ColumnB
(i) Lady bird (a) Methanobacterium
(ii) Mycorrhiza (b) Trichoderma
(iii) Biological control  (c) Beetle
(iv) Biogas (d) Glomus

() i-bii-diii-c,iv-a

(2) i-c, ii-d, iii-b,iv-a

(3) i-dii-a,iii-b,iv-c

(4) i-c, ii-b,iii-a,iv-d

How many matching are correct

a. Somaclones — genetically identical
b. Explants - Tissue culture

c. Micropropagation - Tissue culture
d. Virus free plants — Meristem culture
(1)
@)
3)
)

Three
Four
Two

One

143.

144.

145,

146.

FYF-- 9 A Fifdgs 490 femq A el fearg
21

& - 11-7 A Fiaw 9 sRes =Re® e
21

(1) 29 | 31K & || 21 38T #
(2) o 19 & Aferd @A | 39 2

(3) FU | 39 B Afth #9199

(4) FIF | 3 o || 34 a7

HA Ry g @ @uq &

Sy -|:

ALIAE 375 U YEFR 1 sitafer 979 1UDs 21
Y- -1l :

for o7 v yER 1 Fiw KT UDs 1
4 for fawent & A w6 IR A

(1) 2FF T | 3R T 1T B

(2) &2F | HE e A | T B

(3) FUH | 7T ® I U 1IEE 2

(4) < A |3 S 1 R

wier ! Rielrsd 3t 96 I 1 989 B
Hie T’ Hiert ‘9

(i) =St =E (a) ARRTFARTA

(i) ArZPRIFSI (b) grEenleal

(iiii) AAAITNTHS Fcld () ded

(iv) FrarE (d) T

(1) i-b,ii-dii-civ-a

@2) i-c ii-d,ii-b, iv-a

@3) i-d,ii-a,ii-b,iv-c

@) i-c,ii-b,iii-aiv-d

Fopail Sreuar g8l @

a. AT - ARG T T I
b. @cdidal —SHdd d9Hq

c. & YdHa-FHds a9t

d. faump qaa yey-favsalas gadq
(1) @4

(2) TR

¥ @

4) T
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147. Human protein u-1 antitrypsin is used to treat ; 147, g3 9 -1 @Eﬁiﬁ &1 399 gl Sl e
o) Gaess & ferg fomar wimr 2
(1) =W
(2) Rheumatoid arthritis ‘
(2) wHames Aty
(3) Alzheimer's disease (3) s fasy
(4) Emphysema (4) FFErEAE
148. Match the following : 148. Rrfalad =1 Rra Fifse
Column | Column 1l & | & Il
a. Lepidopterans i. Beetles a. dfERuT i .,i“
b. Coleopterans ii. Armyworm b. HiREISTH i AR A
. Dipt iii. Cotton boll o> '
c ipterans iii. Cotton bollworms = i, T agﬁr
d. CrylAc iv. Mosquitoes
d. CrylAc iv. H=ST
(1) a-iii, b-i, c-iv, d-ii L
(1) a-iii, b-i, c-iv, d-ii
) 1l Bl JochL Gl (2) a-ii, b-i, c-iv, d-iii
(@) &, b, il il (3) ai, briv, c-ii, diil
(4) a-iv, b-i, c-ii, d-iii (4) a-iv, b-i, c-ii, d-iii
149. Assertion : In gel electrophoresis DNA moves | 149 W:G}qgﬁq@rﬁﬁmqﬁ' DNA uHlz &} 93F doddl
towards the anode. 2
Reason : DNA is a negatively charged molecule HTT: DNAGH ol=id i S 3
1) Both (A)and (R) are true but (R) is not the correct 5 . 5 .
) ( ). (R) R) (1) (A) 3R (R)SHI 98l 2 wife (R) 98 =aran =51 =
explanation of (A)
. . (A) &I
(2) (A)is true but (R) is false . .
_ _ (2) (A)FEr 2 wfe (R) e &
(3) (A)is false but (R)is true X
T B wfe 2
(4) Both (A) and (R) are true and (R) is the correct (3 (A) (R)ﬁ %
explanation of (A) (4) (A)3R (R)H 927 & 3T (R) ¥8 AR ® (A) =T
150. The DNA molecule to which the gene of interest | 150. DNA T o] Foradt T3 wFaent oA et 2lar @ gefaa
is integrated for cloning is called : F oo weamEn 2
(1) Template (1) ¥l
(2) Nontransforments (2) &=L
(3) Transforments (3) =0T
(4) Vector 4) e
PART-2 (SECTION-A) RI-2 (Evs-A)
Attempt All 35 Questions o 35935 Jfad €
151. Which one of the following is the incorrect match: | 151. fop=iferiad o & i 4 FITeTaT 94 2
(1) Ethidium bromide - Staining (1) e aemgeE _ R
(2) Gelelectrophoresis — Annealing (2) SeTEFCIFRE —  ATEiE
(3) Cloning vector - Bacteriophage (3) FelHT G —  SEmET
(4) pBR322 —  Artificial plasmid (4) pBR322 — A
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152.

153.

154.

155.

156.

Which one of the following is the incorrect match:

(1) DNA = Hydrophilic molecule

(2) TumorPreventing - Agrobacterium
Plasmid

(3) Retrovirus - \Vector

(4) Insertional - [—galactosidase
Inactivations

Which association group given the definition of
biotechnology :

(1) FBI

{2) NACO

(3) EFB

(4) FIFA

The average temperature at surface of earth with
out green house effect would have been :

(1) 28°C
) —18°C
(3) 15°C
(4) 06°C

Greater biological diversity of tropics than
temperate region is due to the :

(1) Presence of more seasonal environment
(2) Frequent glaciations in the past

(3) Highly variable climate and availability of less solar

energy in the past

(4) Availability of more solar energy which contributes
to higher productivity

In animals, the organism, if unable to migrate
might avoid the stress by escaping in time which
of the following are example :

(a) Hibernation
(b)
()
(d)
(1)
(2)
3)
@)

Aestivation
Diapause
Mimicry
Onlya, b, d
a, b cd
a,bc

Onlya, b

152,

153.

154.

155.

156.

Frafelaa & @ oiq 6 sEan Teq 2:

(1) DNA - ETEEIhifer 31

(2) TR A T - TOEFIEH
S IGEIES

(3) ¥ifemry - TEE

@) fAadn Fftrmar - B-ToEeEEE T

fora 99 @ = stagaifE = aRr =t Rar
(1) FBI

(2) NACO

(3) EFB

(4) FIFA

At At wEE T FEd e BE7 A E8E v &
Bl :

(1) 28°C
(2) —18°C
(3) 15°C
4) 06°C

AW &= FT go & IV Fics= A s Adie
faferermar =1 wRoT 2 -

(1) siferer e RRadsr arer gafawor o Iafeuafa
(2) YT ¥ aR -aR f2aed &1 2T

(3) SIS § Siferes AadiT qiad arel TEawer 991 S
TG Tl &l ITAET

(4) 3R ggs o &t STesEr fomd st SemEsdar
B

it} % 9K Sig gaE 2 T adhar 21 | 98 99y
A IE e <o| A 9=ar 2| Fefafaa & sl ar

R B

(a) BIEHEIE
(b) JRcATH
(c) SHEMIaT

(d) FifcAl

(1) @49 a, b, d
(2) a,b,cd
@) abc

(4) Fada, b
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157. The tiger census in our national parks and tiger
reserves is often based on :

158.

158.

160.

161.

162.

(1
{2)
@)
()

Pug marks and fecal pellets
Only pug marks
Pug marks and directly counting by seeing

Only fecal pellets

Water Act became effective in India from :

(1)
(2)
(3)
(4)

1981
1991
1974
1970

Which one of the following is not a functional unit
of an ecosystem?

(1)
2)
)
(@)

Energy flow
Decomposition
Productivity

Stratification

Which one of the following is odd :

(1)
@)
)
(@)

Fragmentation
Humification
Stratification

Mineralisation

Which association exemplifies commensalism

(a)
(b)
(c)
(d)
(1)
)
)
()

Orchid and Mango
Egret and Balaenoptera
Silver fish and Adamsia
Barnacle and Cattle

a, b.c only

a, c only

a, ¢, d only

Onlya

Which one of the following is the correct match
with reference to biodiversity:

(1)
@)
)
(4)

Fishes — 28,000 species
Beetles — 30,000 species
Orchids — 50,000 species
Ants — 12,000 species

157.

158.

159.

160.

161.

162

FAR U A 3 arg aREREr 3§ | avEr g

e Bl 2

(1) o1 Foe2t 3iik W gl

(2) &ad =R

(3) T oY 3R e Tt i Fen
(4) Fgd 7 Tele

WIRd I e JfET w5 @ 7% g3
(1) 1981

(2) 1991

(3) 1974

4) 1970

Fefofaa ¥ & s va aiita= 3 e S =146

%Z

(1) ol amE

(2) 3T

(3) IeaEEAr

(4) wRfa=E
FrfeRaa & @ =iq s 2
(1) @vsA

(2) T T

(3) =RE=E

(@) | FT g

ot A @ e A1 gva= wAafersH T T B
(a) 3nfas s am

(b) ST ¥F Sfei-ea

(c) Taeat el va e
I EETRE R

(1) #9e a,b, ¢

(2) #94 a, C

(3) ®ad a, ¢, d

4) F99 a

for=fefaa 3 @ @19 @ sgegar Sa ffaear @ a-of

% @ B

(1) == -
(2) diicea
(3) 3iRfre
(4) =ér -

28,000 FfreT
30,000 Sl
50,000 T4t
12,000 HAfr=T
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163.

164.

165.

166.

167.

168.

Class mammalia includes families :
(1) Felidae

(2) Canidae

(3) Convolvulaceae

() Both 1and 2

How many of the following fungus found in the
class Ascomycetes :

Rhizopus, Penicillium, Yeast, Mucor, Agaricus,
Puccinia, Albugo, Claviceps, Neurospora,
Alternaria, Trichoderma, Aspergillus, Ustilago,
Morels, Truffles, Colletotrichum, Toadstool:

(1) 5
@ 7
Q) 9
4) 10
Cuscutais examples of

(1) Atype of plants

(2) Atype of parasitic fungi

(3) A type of parasitic animal

(4) More than one options are corrects

The strobili or cones are occurs in which plants :
(1) Selaginella

(2) Ferns

(3) Funaria

(4) All of these

Assertion : Scientist believed that reptiles are
ancestor of birds.

Reason : In birds scales are present on Hind limb

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

In which class of Algae maximum diversity in
shape of chloroplast occurs

(1) Phaeophyceae
(2) Rhodophyceae
(3) Chlorophyceae

(4) Xanthophyceae

163.

164.

165.

166.

167.

168.

el ot A ol G Bl s @

R EE

(2) ==

(3) AT

(4) AN 1 3R 2

e as & @ e wngRds 9 & g 2

Tsaya, AR, A, Wy, SR, afakn,
Yeqfiard, ARSI, R, Thd, DA, ATEH:
(1) 5

@ 7

@) 9

(4) 10

e I B

(1) T TR & Y

(2) T YR FT GO FHaE

(3) U YR & Wil i &

(4) UF A @ Joaw wE B

eifaens ar i forr el F aran v 2

(1) Tacifomen

(2) A

(3) g

(4) T =

Fo A &1 faza 2 6 a9y el @ gda
21

HIROT : g2l A Thed YIS 9 AT ST 2 1

(1) (A) 3R (R)ZH FE1 & wife= (R) 981 =) =151 =
(A) T

2) (A)®E 2 dfd (R) ToT &
(3) (A) =T & A (R) @l &
(4) (A) 3R (R)ZHT &1 2 3 (R) W =qwean # (A) &

Aard & g & I geldeane & asfa & 9l sarer
fafaremr 9w s 2

(1) TerETze
() =rFrEE

(3) FetRIEFET
(4) STl
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169. Which one of the following statements are
Incorrect with reference to given diagram :

169.

Fresifeftaa & &b ar o 124 1@ g & a= & T
2:

(ii)

a. @i R 7 9 vt 2

a. All given plant are Phanerogams
b. :Jr;t?éln?;\gir:”;s)lants same type of life cycle R "CUNE G (VRS NN S
c. All given plant are produced motile male S, 1
gamete c. @i 23 7 i) =eie R ey I e B
d. All given plants are containes chlorophyll a d. @f i 1 9 FRfa a @ 21
(1) Onlya, b @) cd (1) #9el a, b @ ¢ d
(3) a, b, c (4) Onlyd 3) a, b, c (4) 9 d
170. Which is the incorrect matching : 170. i 4 e SEAREI 2
(1 K —  Calyx (1) K — #Fhew
@) C - Corolla @) C . NE
(3) G — Inferior ovary 3 G —  3FUNEET IR
@ @ - Actinomorphic @) @ - UMt
171. In mango and coconut type of fruit are 171. 3P I RIS A Bl & TR 2|
(1) Sorosis (1) aRifaE
(2) Drupe @
(3) Capsule (3) s
(4) Berry @)
172. Sesbania, Trifolium and Indigofera belongs to the | 172, Jaafaqr, memmam
family : a
(1) Brassicaceae (1) ST
(2) Solanaceae (2) |e=ar
(3) Liliaceae (3) ferferusi
(4) Fabaceae (4) el
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173.

174.

175.

176.

Which is a correct matching set

Column | Column Il
(@) Compound epithelium (i) Tendon
(b) Exocrine gland (ii) Insulin
(c) Endocrine gland (iii) Digestive

enzyme

(d) Dense regular tissue (iv) Skin
(1) a-iv, b-iii, c-ii, d-i
(2) a-iv, b-iii, c-i, d-i
(3) a-iv, b-ii, c-iil, d-i
(4) a-i, bHiii, c-ii, d-iv

Which is a correct matching set with reference to
cockroach

Column-I Column-li

(a) Ommatidia (i) Ootheca

(b) Phallomere (ii) Bundles of sperm

(c) Spermatophore (i) Chitinous
asymmetrical
structure

(d) Collaterial gland (iv) Unit of compound
eye

(1) a-iv, briii, c-ii, d-i

(2) a-iv, briii, c-i, d-ii

(3) a-iv, b-ii, c-ii, d-i

(4) a-iii, b-iv, c-i, d-ii

Which type of cell junctions found in the

epithelium and other tissues:
(1) Gap junctions

(2) Adheringjunctions

(3) Tightjunctions

(4) Allof the above

Cartilage is present in our body :

(1) Tipof nose
(2) Outer earjoints
(3) Between adjacent bones of the vertebral column

4) All of these

173.

174.

175.

176.

&l & v g8t Eddr 8

w9 | ESE
a. g IUhdl (i) wosqd
b. afg:ardl uf~ (i) g~gfer
c. 3id: 4 afy (iii) 9rereh GeolTg
d. g9+ FafE sas (iv) =T

M
@
3)
]
¥ sl o e sEdT @ wef ¥ a= 2

a-iv, b-il, c-ii, d-i
a-iv, b-ii, c-1, d-ii
a-iv, b-ii, c-iii, d-i

a-i, b-iii, c-ii, d-iv

w4- Y -l
(a) sHEIRan (i) Srvseha™
(b) faret =g (i) FIVSAT BT =31
(c) TR (iii) rgfe-dt sraRRiA
A
(d) zotwan ufeer (iv) g JATe o) ghIg

(1) a-iv, b-ii, c-ii, d-i
@)
3)
4)

fora 9aR &) SIfarenr af I9sar aRk J9 Saat F
91 ST 2 1

(1) STel af=u

(2) 3 At

(3) g A

(4) I a9

TR I N Iy IR W 2 -
(1) A1 I Al T

a-lv, b-iil, c-i, d-ii
a-iv, b-ii, c-iii, d-i

a-ii, b-iv, c-i, d-ii

(2) 918G FH AREl 7w
(3) WEST FI M FT A ® T W
4) I T
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177. Identify A, B, C and D in the following diagrams :

B s
Copp

Zoe® ©
A

g
i

(8)

Sleve pure
Slewe b
2lemnent

“hlnem
serendnama

(D)

(1) A-Xylem, B-Phloem, C-Collenchyma and

D-Companion cells

(2) A-Collenchyma, B-Xylem, C-Phloem and

D-Companion cells

(3) A-Collenchyma, B-Phloem, C-Xylem and

D-Companion cells

(4) A-Companion cells, B-Phloem, C-Xylem and

D-Collenchyma

178. Tracheids are present in the xylem of :

(1) Pinus
(2) Eucalyptus
(3) Cedrus

(4) All of these

179. Which of the following is an incorrect match :

(1) Bowman's capsule —  Glomerular filtration

(2) DCT — Absorption of glucose

(3) Henle loop — Concentration of urine

4 PCT - Absorption of Na* and
K™ ions

177. efeifaa far 9 A, B, € @i D &) 9saH &

(1) A-SITZ, B-TRAIGH, IR Fa, D-He=Renfaems
(2) AEYIEI Sedeh, B-SIZe, CHAGH 3T

BE:ECIEa Bl
(3) AFIHEIV A, B-FAIGH, C-FIZeM 3K
D-SEaah e
(4) AFEREINEE, B-FAH, C-Mee™ 3R D-RLE
EBED
178. fraa Sirges A Salgg il andt 2
(1) g9
(2) gHferea
(3) fazm
(@) =7
179. f91 % & =9 W1 v o frae 2
(1) = EE - RS e
&y Ber - YISl T ST
(3) el I - F A
(4) PCT - Wiz g aRfeE s

T I
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180.

181.

182.

183.

Which of the following set is wrong

(a) Acetyl Co-A - 2C
{b) Citric acid - 4¢C
(c) a-ketoglutaricacid - 5C
(d) Succinic acid - 4¢C
(1) b

) a,b

(3) a,c

@) c

Which one of the following molecule are utilised
as well as released during glycolysis process :

(1) ATRH,O

(2) ATP

(3) ATP,H,0,CO,

{4) ATP,H,0,CO,,0,

Given below are two statements

Statement I:

An ideal contraceptive should available, effective and
reversible with no or least side effects.

Statement Il :

Natural methods work on the principle of avoiding
chances of ovum and sperms meeting.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
{(4) Both Statement | and Statement Il are correct

Assertion (A) : CNG is better than diesel and petrol

Reasons (R) : CNG burns most efficiently and it is
cheaper than petrol or diesel. CNG can not be
adulterated like petrol or diesel

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)istrue but (R)is false
(3) (A)is false but (R)is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

180.

181.

182.

183.

frad @& sl arde saa 2
(a) THITRA RIVARA-T - 2C

(b) WiElie 31 - 4C

(c) a-FleleeRe e -5C

(d) g 3%l - 4C

1) b

@ ab

(3) a, ¢

@ c

Frafafaa ¥ @ 9 a1 s wgHifafe g &
IWEHT B & Ay £ Ay o off sler @
(1) ATRP,H,O

(2) ATP

(3) ATP,H,0,CO,

(4) ATP,H,0,CO0,,0,

DY -1

Ue e I PRI 9anTeRaT & fed & e e aren
ST & 39Tl TR T fean FiE sra yerma ar
gogeId A4 8l ar Bl SNl A o A

Y- -1l :

iR el sy ud aEE] & W T Ak
faer= w Fd F 2

M v faFent & 4 96 SR A
(1) 2Fr F9F 1 3R FoT 1T F

(2) &I | HE T A I E

(3) T |90 B e F |IEE B
@) TE T | SR F FE R
FYT (A): CNG ot 3l dgia 4 dsaw @

FHRYT (R) : CNG ¥ 3=l aXE & wadl 8 3R g%
Yee i Sise @ g% 2 1ICNG Suie 3R Ui &l 9@
srafafsra =& fonar w1 wehar 2@

(1) (A) 3R (R)IF @81 2 JfFa (R) 9%t = 491 =
(A) &T

2 (A" E AfFT (R) o &
(3) (A)TT & ifehe (R) &8 &
@) (A) 3 (R)H @81 2 3R (R)|#1 sAmen # (A) &1
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184.

185.

Which one of the following types of organism are
not occupy more than one trophic level in different
types of ecosystem:

(1) Human

(2) Fish

(3) Sparrow

(4) None of these

Given below are two statements
Statement |

Mutation are random and directionless
Statement Il :

Darwinian variation are large and Random

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement 1l is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct
PART-2 (SECTION-B)

184. FefeilRag % 4 &g vk & W9 Al gy &

185.

qifita— & var & 3ifdra v wR 9 S 9 o g
B

(1) s

(2) weselt

(3) e

(4) FIE 7

DY -1

Feuftadd el sk aefae 2 2
Gy -l

W oy fament ¥ 9 €€ SR wA

(1) 9 Y |3 FH (T B

(2) T | FE T FOE | T B
(3) FUT | AT B e FA I E
(@) 21l S | 3 P (1FE E

MRT-2 (WUs-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

=g @ue ¥ 15939 21 qdemeil g4 15934 ¥ 4 &l of
1095 = ghar = 1 gfe wlemrit 1093 siftres go1 =1
I 2T © A 5o [Rd g¢ T 1099 &) W=y B

186.

187.

Which one of the following is a type of living
organism :

(a) MALT

{(b) PPLO

(c) GMO

(d) ART

(e) px174

{1) b,c e (2) b, c

(3) a,b ¢ (4) b,c,d

Which one of the following are correct match

a. pistillate flower l. Unisexual
b. Antherozoid Il. Type of gamete
c. Homothallic Ill. Bisexual
d. Meiocytes IV. Gamete mother cell
(1) a-Il, b1, c-1V, d-ll
(2) a-l, b-l, c-1Vv, d-lll
(3) a-1,b-l, c-lll, d-1IV

4) a-1V, b-l, c-lll, d-ll

186.

187.

frfefaT & @ =9 v TR &1 SidiT o9 2:
(a) MALT

(b) PPLO

() GMO

(d) ART

(e) 6x174

(1) bc e @ b, c

@) ab.c 4 b.cd
Fr=ferfiaa 3 9 @9 9d gita 21

a. EHa I I wenferdit

b. T=Riva™=sd Il. gWre & THR
c. anderdl . fefer

d. e IV. goe AT

(1) &l b-l, c-1V, d-]
@) all, b-l, c-IV, d-lII
3) a-l, b-ll, c-lll, d-1v
@) a-IV, b-l, c-Ill, d-1I
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188.

189.

190.

191.

Given below are two statements
Statement |[:

Placenta also acts as an endocrine tissue and produces
several hormones.

Statement Il :

The morula continues to divide and transforms into
Blastocyst

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

Statement -I- Genetic disorders may be grouped
into two categories — mendelian disorders and
chromosomal disorders.

Statement-lI-Mendelian disorders are mainly de-
termined by alteration or mutation in the single
gene.

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

In the given below examples how many animals
are Triploblastic

Hydra, Spongilla, Sycon, Adamsia, Meandrina,
Taenia, Cockroach, Ctenaplana, Physalia, Sepia

1 7

(2) 6

(3) 4

@) 3

How many matching are correct

a. Spoke - Flagella
b. Spoke - Cilia

c. Spoke - Centriole
d. Spoke - Proteinaceous
(1) Three

{2) One

(3) Four

4) Two

188.

189.

190.

191.

4 e g @t wuq €
DY -

SR 3AE FAF F 1 W FE A B 3R 3T
EH FEE T E

YA -1l

qfeafda 21 S 21

i Ry et & 4 @ IR g
(1) SFF FOE | 3R FE T E
2) FAF |8 g FO T #
(3) T 19T & W] FUA |IHE 2
@) AN FUF | IR T = B

HY -I- FalIE AR &l vl 3 adffend fear o
TRl © - A=3elgq e ek oA faer

-l A=cllgd AR Yea: Uehel Sl & &= 41
JeiRady & fefRa sid 2

(1) FIF | 3R F9F 1| 397 389 &

(2) F9 |99 2 iferd 9 1l 38y &

(3) FF | 3 7 AT FuT 119 &

(@) F9 | 3R F97 11 3 9 B

A o T Semen F fha g PR @
AT, wrsdterr, fafdar
7

2) 6

(3) 4

4) 3

fopaeit gieyar gdl 2@

a. @& -
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192.

193.

194,

195.

196.

197.

Which one of the following structure of internal
ear are not involved in balancing of hody

(1) Tectorial membrane
(2) Otolith
(3) Crista ampullaris

(4) Semi-circular canals

If a sample of B-DNA which length are 5.1 metre
then number of base pairs presentin this sample:

(1) 6.6x10"

(2) 1.5x10%™

(3) 2x10°

(4) 1.5%x10°

Main Arena of cellular activities in both the plant
and animal cells :

(1) Nucleus

(2) Cytoplasm

(3) Golgi bodies

(4) Mitochondria

Long exposure of dust inindustry results in

(1) lunginflammation
(2) fibrosis
(3) lungdamage

(4) All of these

Which is a wrong statement regarding adrenal
cortex:

(@)

Epinephrine stimulates sympathetic nervous
system

(b)
(©)
(d)

Cortisol is a hypoglycemic hormone
Cortisol is a glucocorticoid

Cortisol suppresses the immune response
(1) (2) bandc

3) 4) Onlyb

What would be the stroke volume of a person if
the cardiac outputis increased to 7.2 litre but heart
of person beats normally as it is initially :

(1) 90 ml
(2) 80ml
(3) 100ml
@) 120 ml

aandb

candd

192,

193.

194.

195.

196.

197.

fFefafaa & @« @ s et 9 dwa ol @
agaq A afafea a8 2

(1) eeFelfeas famett

(2) siteier

(3) forver Tepeieg

(4) FETFEFR AfTEY

3R ¢ B-DNATT T foraaht avarg 5.1fex 21 a9
7 A ¥ e aR ger Jufeya @

(1) 66x10'

(2) 1.5x10'

(3) 2x10°

(4) 1.5x10°

qtel sl w3t <At A wIREE fhar wery 1 vHE
T2

(1) F=F

(2) wMEH

(3) Irestiarér

(4) wrgcrFTEar

Fahm ¥ gew @ SdarRiE 9 @ T giomr 2
(1) Bl ¥ STef

(2) YETEEET

(3) Tl T A

@) I7aE a9

U HICFd A FHE-EE S 9T U FEA ©
(a) TR fetifes aftaer o= =) S war 2
(b) «IéTala Ueh erguRarziafS eRli 2

(c) FIETHId U TdhlardTaamE &

(d) =rétarer gforen o9 1 gfafear < Fdfa w@r?
(1) asib (2) b3ic

3) caitd (4) Fadb

U Ald &1 Y918 [T F1 BN IR geleE
TETT 7.2 7ilex e far Wi ofeheT i o geg weT
Yoo &l OXE 9 2|

(1) 90ml

(2) 80ml

(3) 100 ml

4) 120 ml
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198.

199.

200.

In animal cells during which phase the centriole
duplicates in the cytoplasm

(1) G, phase
(2) S phase
(3) G,phase
(4) Mphase

Which one of the following is the correct
description of a certain part of a normal human
skeleton

(1)
(2)
3)

Parietal bone of the skull are paired
First vertebrais atlas

The 9th and 10th pairs of ribs are called floating
ribs

(4) Both1and 2

Match the following extincted species with the
country
a. dodo (i) Russia
b. thylacine (ii) Mauritius
c. Steller's sea cow (iii) Africa
d. quagga

(1) a(iv),b(ii), c(iii), d(i)

),

(2) a(iv),b(ii), c(i), d(iiiy
),
),

(iv) Australia

(3) a(ii),b(iv), c(i), d(iii}
(4) alii),b(iv), c(iii), d(i}

198.

199.

200.

=g sifdrTst A fove wraenn & <due Afgaia &
FifirhTesd ¥ wyewoy gtar @

(1) G wE=T

() S rEer

(3) G, 9ren

(4) M urEer

A AT Sl & fhdl fafse s & foe = ar
sy ag @

(1) ETE FY Wzee e siEr A B R

(2) UECH IR Veod &

(3) 9T 3% 1041 S ) yalerr WAt yafermt Fearl
2

(@) 1 3 2 2A

frfoiaa A 9l & 39 <o & 9y 99
gaiferd 4

a. s (i) &&

b. AR (i) W™
c. Wl 9yEl Mg (iii) STI<hT
d. @ (iv) smeeferar
(1) a(iv),bii), c(iii), d(i)

(2) a(iv),b(ii), c(i), d(iii)

(3) a(ii),b(iv}, c(i), d(iii)

(4) a(ii),b(iv), c(iin), d(i)




SOLUTION

SECTION-A

M

™

M

[NCERT 265]

Volume of big drop = Volume of 1000 small drop

4 4
—7R* =1000—rtr’
3 3

[NCERT-46]

At same time two velocities of a body can not
possible.

[NCERT-31]

[As A =4nr?]

[NCERT-78]
Retardation of box
f=ma
umg = ma
a=0.5%x10=5m/s?
vZ=u’—-2a8S

0=(2-2x5x8

S= i = 0.4 meter
10

SECTION-A

M

(1)

(1)

[NCERT 265]
T q& 1 JATA = 1000 THE el T FT

4 4
—nR* =1000—mtr
3 3

[NCERT-46]

Teh B 99 R [ a5 & S 99 2 B e |

[NCERT-31]
AA AT as A= 4]
A r
AV g4
V r
AV _3aA
vV 2A
AV 3
="
Vv
[NCERT-78]
f=ma
umg = ma

a=0.5x10=5m/s*
vi=u?—2aS

0=(2P-2x5x5S

S= i = 0.4 meter
10
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2

()

@

-~

X
We know that ¥ = xtan® (1—§)

Now, from figure

xtanLT—E} xtan[']—i]
R M R

[NCERT-58] 2)

tana + tan =
X

N

tano +tanf} = tane[kl + Ztane
R) R

S

tana +tanf = tane—%tanﬂnuitane

tano +tan p=tan 6

[NCERT-344]

N
X, = A, sin(z?ﬂ]t

(2n4 )

and X; = A\Sint—éif t

4

A(b:(ﬁﬁ“”t
T 5T

\

72ﬂ(174

=] SJT

[NCERT-147]

[ ] (23, _a)
m

_2mx(al/2)+mx=x2a
- 3m

X

cm

(R—x)

6. (3)

[NCERT-58]
y
v P
b i
Ry
% R =
N
E’H’Gﬂﬂ%% y:xtan8[1—ﬁJ
¥, o g
[ A ( )
xtan‘U—%J xtan“—%
tano + tan = + L 2
X (R—x)
[, X X
tanu+tanﬂ=tan8£1f— +—tan#
R) R

i

tana +tanfi = tanefétaneJritane

tana +ttan [} =tan 0

[NCERT-344]

[NCERT-147]

e (23, —a)
m

_2mx(a/2)+mx2a
- 3m

X

cm

NLI/3



10.

1.
12.

13.

14.
15.

16.

17.

@

™

4)
M

@

3)
™M

)

)

p=qx2l
[NCERT-154]
F=i(i xB)
2iB/sin L
2
[NCERT-252]
P=V__l_ sing.
480 W.
[NCERT-268]
[NCERT-289]

Initial and final states are same in all the process.
Hence AU is same.
By FLOT; AQ = AW + AU

[NCERT-208]

By faraday's law the induced emf is given by
d
=55
dt
d
=—(5t* +10t +1
dt

=10t +10
atf=2 sec

le|=10x2+10

[NCERT-351]
[NCERT-267]

W=JQ = %1(-_]2 = J(MS28)

G
=y l(EMR2 sz
2.5

R2w*

= JMSAB) = AB =
5Js

[NCERT-277]
X-L_C
U-L 100

C =60°C

62-(-10) C

110 —(-10) 100

When a diamagnetic material is inserted into a cail,
the value of permeability decreases, hence L

decreases. Therefore 7 = /X’ +R” decreases

and as a result the current increases.

10.

1.
12.

13.

14.
15.

16.

17.

M

2

M

)
(1)

@

3)
(1)

@)

©)

[NCERT-27]
p=gqgx2l
[NCERT-154]
F=i/«xB)
2iBr sing
2
[NCERT-252]
P=V | sing.
480 W.
[NCERT-268]
[NCERT-289]
o T ueq & grfev 3R 399 sa 9ae @
Zhifere AU G & 991 2HT|
By FLOT; AQ = AW + AU
[NCERT-208]
T & HEEER
d
=2
dt
:i(StZ +10t+1)
dt
=10t +10
att=2 sec
le|=10x%2+10
[NCERT-351]
[NCERT-267]
W=JQ = %mz = J(MSAD)
S
= l(EMRZ J(!JZ
2\5
2=
_ J(MSAB) = A0 = X0
5Js
[NCERT-277]
X-L_C _ 62-(-10) C
-L 100 110-(-10) 100
C=60°C

T FAFEEE 9e = S 2 Al W
TEIEAATT A &1 gaferg LA

F: Z= X +R? AT HRT JR |
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18. (4) [NCERT I1-135]
F = qfvxE)
:(—2x10*6[{2?+3i)x105}x(2"j)])
= —4(2k] = -8k

19. (3)

20.

21.

22,

23.
24,

The deviation of light is maximum in case of convex
mirror which provides a greater field of view for a
convex mirror.

(3) [NCERT-356]
¢ N\
. )
y, =10 sin [3nt+§J ()
and y, =5[sin 3nt+\/§COS3Ht]
=5x2 1><sin3;rt+£><cos:3nt
2 2
=10 cosEsin3nt+sin£cosﬂ}
2 3
=10 cosEsin3nt+sinEcos.~ct|
3 3 ]
_ ‘/ -
=10] sin| 3t + — i
A t,@ ..... (iiy
(++ sin (A +B) =sin A cos B + cos A sin B)
Comparing equation (i) and (ii). we get ratio of
amplitude 1 1.
W] [NCERT-84]
B, —0.=0,-6,=0,=0,
(2) [NCERT-171]

80 mis

@% 20m/s v

1k
9 2Kg

vi

Momentum is conserved in horizontal & vertical
directions

3x20=2v, = v,=30m/s

0=1%x80-2v, = v,=40m/s

Hence net velocity of B, V = /3q% | 49* = 50 m/s

(3) [NCERT-159]
(1) [NCERT-196]
GMm
K_2r _1
U GMm 2

18. (4) [NCERT II-135]

F=q[vx B)
_ (72 «107° [{2? +37)x10%) % (2])]]
= 74(‘2|2) = -8k

19. (3)
Idel =997 | geprar & feul ehr st feaad B

20. (3) [NCERT-356]

¢ N

T
=10 sin| 3at+— :
12 [ g SJ (i)
3y, = 5[sin 3nt + 3 cos 3nt]

= 5><2L12x Sin3nt+\{2§x0053nt:|

=10 cosEsin 3t + sinEcos it
2 3

=10 cosEsin 3t + sinicos r:t}
3 3

sinLSnt ; Ej
L t

(- sin (A +B) = sin Acos B + cos Asin B)

AT (1) FAC (if) T FoT FoeA W1 1.

=10

21. (1) [NCERT-84]
B, —B.=86 -6, =6 =6,
22. (2) [NCERT-171]
80 m/s
B
@—)Zum!s V.
1 kg kg
Feater g afaa feam F waer gdam wan
3x20 = 2v, = v, =30 m/s
0=1x80-2v, = v, =40 m/s
Gﬁzﬁ'{a'JTB,V= 302+40"=50m/s
23. (3) [NCERT-159]
24, (1) [NCERT-196]
GMm
k8¢ 1
U GMm 2

NLI/5



26.

27.

28.

29.

30.
31.

@

0

2

@

@
@

Joule / Coloumb
[Concept from NCERT-108] | 26. (2)
1 1 1 1 2R
e iy See
R, 2R 2R 2R = T« 3
_ _ 2R _ 8R
RAB—REQ+2R— ? +2R = ?
[NCERT-125] | 27- (1)
grb 9.8x150x1.2
vV =."— =, /———=21ms"!
e 2h 2x2
[NCERT-331] 4. 17
_— Silvered
sutfnce
According to Snell's law
B sinr
= (1)sin2A = (p)sinA = p = 2cos A
[Concept Based on 29. (2)
article at NCERT-212]
e=Bvi=1x2x50x10%=1
_e_1
R 2
; 1 2
So,F=iB/= EXTX5O><TO
=0.25N.
30. (2)
[Similar to NCERT-187]
[NCERT-103] 31. (2)
Since system is in equilibrium so making F.B.D. of
block A
TN
%Tl
//f‘ Vs 1// 7
100N
T, =f
T,=0.25%100 =T, =25N

Joule / Coloumb
[Concept from NCERT-108]

1 1 1 1

2R
e R ) Sl o S
R, 2R 2R 2R = Ra=
2R 8R
Ry =R, *2R= 7 +2R=—7
[NCERT-125]

max

grb 9.8x150x1.2
=, == 21ms"
2h 2x2

[NCERT-331]

- Slvered

surface

=ed & 499 ® IER
_sini
M Sinr

= (1)sin2A = (u)sinA = 1 = 2cosA

[Concept Based on
article at NCERT-212]
e=BvI=1x2x50x10%2=1

So,F=iB/= %MXSOX‘IO z

=0.25N.
[Similar to NCERT-187]

[INCERT-103]
i e argEeT (Age) ¥ 21

AN

%Tl
Y4

//f‘//

N

100 N

T, =1

T,=0.25%100 =T, =25N

NLI/ 6



32. (1)

33.

34,

35.
36.

37.

38.

39.

40.

G)

@

@
@

@)

M

@)

@

[NCERT-360]

[NCERT-364]

When fixed ends behave as nods, then distance
between two nodes = 10 cm = 0.1 meter

—=0.1 meter
2

. =0.2 meter

velocity of the wave, u =ni
=100 x0.2 = 20 meter / sec

[NCERT-307]
Speed of soundingas is
YRT
Y
Vo, I\/IHz B fiil
Vi Mo, 32 4
[NCERT-274]
[NCERT-81]

The energy stored in the capacitor

- %cvz . %x4 1078 % (400)* =032
This energy will be converted into heat in the

resistor.

[NCERT-177]
NCERT Theory.
[NCERT-23]
, L
Energy density = EEQE
IMET ]
(']
=[ML'T.
[NCERT-395]
work function of metal-1 is lower than metal-2
[NCERT-451]

Aod A 5 —d
P, e Py R

32.

33.

34.

35.
36.

37.

38.

39.

40.

(1) [NCERT-360]
sinﬁ =1
10
X= 10(n + 1)
2)
t =l LS s
X=515 25 coceue...
(3) [NCERT-364]
S U & A fEAR) ) dfer 29 @
99 & AT & 9= T 2 = 10 cm = 0.1 e
= % =0.1¥ex
— 1 =0.29cx
TAT &1 =1, U = no
=100 x0.2 = 20 meter / sec
() [NCERT-307]
i T4 F o=
";"RT
V =
Y
Vo, IVIHZ B i B l
vy, Mo, \32 4
(4) [NCERT-274]
G [NCERT-81]
E.H iiﬂ ﬂ U aﬂ ﬁﬁ
= %cv2 =%><4><10‘6 x (400)? =0.32 J
Tg Foll W F € 7 I 9 & Bl
@) [NCERT-177]
NCERT Theory.
(1) [NCERT-23]
Fool Fed = %EEEQ
[MET 7]
S0
= [ML'T-2).
(2) [NCERT-395]
-1 1 FEEeH U1g-2 ¥ FH
(4) [NCERT-451]

h-d A-d
— 74K

&
. QU W .

A-d
+.‘) 777\/

NLI/7



a41. (2 [NCERT-105]
42. (4 [NCERT-174]
43. (3) [NCERT-339]
f
f_ = angular magnification of telescope.
2
44, (4) [NCERT-363]
no fringes will be obtained and the screen will have
uniform illumination
45. (1) [NCERT-251]
AP 100x10° :
B=— =————=10"N/m?
AV 0.01x10°
\
=10" dyne/cmz.
46. (4) [NCERT-]
The given p-N junction diode is inrersed bias because
p-terminal is connected to (—ve) voltage.
Hence no current will flow.
47. 4) [NCERT-430]
Energy released when electron in the atom jumps
from excited state (n = 3)to ground state (n=1) is
-13.6 (-13.6
E=hv=E,-E = 5 —[712 }
W= +13.6 =12.1eV
Therefore, stopping potential
eV, =hv—¢,
=12.1-51
[ Work function ¢, =5.1]
Vy =7V
48. 4) [NCERT-504]
A A+B
B
W
C
The output Y is :
Y=(A+B)C A=0,B=0, C=1
49. (3)
N -type means charge carriers in majority are (-ve)
charge. N type and P type both are electrically
neutral because there is no excess are deficite of
electrons.
50. (4) [NCERT-441]

41.

42,
43,

2
4)
@)

44. (&)

45,

46. (4)

47. (4)

48. (4)

49. (3)

50. (4)

M

[NCERT-105]
INCERT-174]
[NCERT-339]
fl
T =Tl i e
2
[NCERT-363]

BN

[NCERT-251]
AP TR0 il
AV 0.01x10
v
=10" dyne/cmz.
INCERT-]

fear am@r p-N s 2@ls 3eer 9igE #1 il
p-cfiver (—ve)ar=est & w1 B

[NCERT-430]
ST 9] A Feler Jelfuid R (n = 3)® SRl
AT (n = 1) ¥ =l # a9 el s

136 (-13.6)
E=hv=E, E=— fL = J
_ 136 435-12.1ev

9
3T &g g
eV, =hv—¢,
=121-51
[ & Fe ¢, = 5.1]
V, = 7V,
[NCERT-504]
A A+B
B
Y

C
3eqe Y2
Y =(A+B)C A =0, B=0, C= 1

N=TTST &7 7aeid & ff =9 918 a5ada 3§ & (-ve)

s 1 N ersd 3 Pergd <l 4y 9 8 dee €

FiTer FE RET 781 2 geiagl F FA1
[NCERT-441]
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CHEMISTRY

SECTION-A

SECTION-A

51.
52.

53.

55.
56.

57.

58.

@
@

3

M

@
™

0

@

[NCERT-X1-316]
[Mod. CBSE]

h _ 663x10*
mv  10x10 % x 100

=6.63%x10"m

[NCERT 15]
2KI + Hgl, — K, Hgl,
2 moles 1 mol
0.4 moles « 0.2 mol
0.2 mol K,Hgl, = 0.4 mol Kl
=0.4 x 167 = 66.8 gm

[MOD. NEET]

OH

i
OH OH

[MOD. NEET]
[MOD. NEET]
CH,-CH,~Cl—2%KEN_, o _CcH —CN+KC
alc. KCN

CH,-CO-Cl —————— CH,-COCN+KCI

OH O
ale. KCN
Benzon condensation

L
2C,H.~CHO CeHy CH C Cats

Cl

@ alc. KCN
——X

[NCERT 366]
CH,I +Na + |-CH, —@xeher, CH _CH_
C,H.Cl+ LIAH, —CH,

[NCERT 125]

n,, and m,, have equal energy and hence are de-
generate.

51.
52,

53.

54,

55.
56.

57.

58.

2)
2)

@)

M

4
(1)

(1)

2)

[NCERT-XI-316]
[Mod. CBSE]

B e L= 6.63 107
mv  10x10™ x100
=6.63%x107%"'m

[NCERT 15]
2KI +Hgl, — K,Hgl,
2 moles 1 mol
0.4 moles « 0.2 mol
0.2 mol K Hgl, = 0.4 mol Kl
=0.4 x 167 =66.8 gm

[MOD. NEET]

OH 3

O
OH OH
OCH,
CH;l (1eq) @E/\
OH

[MOD. NEET]
[MOD. NEET]
CH-CH-cl2KN oy _cH —cN+Kel

CH-co-cl—3< XN o _cocn+Kel

OH O
| Il

e K CaHgy CH C CgHg

Benzoin condensation

2C.H.-CHO

Cl

@ alc. KCN X

CH,|+Na +|-CH, —Sever , cH _CH,

[NCERT 366]

C,H.Cl+ LiAIH, ——C H,
[NCERT 125]
FHI Foll el B gl [Remie B

2py

5
TCZ(JX aﬂ{ T
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60.

61.
62.

63.

64.

65.

66.
67.
68.

69.
70.
71.

@)

™
&)

&)

3)

@

2
@
@

@
&)
M

Lyaphilic colloids are reversible sol and work as
protective colloids.

[NCERT-XII-165]

Van Arkel method (purification of Ti, Zr, etc.) and
Mond's process (purification of Ni) are common
examples of vapour phase refining.

[NCERT 103]

[Exampler-XII]

1 o 0.059 24
Emg /Mg = EMg;, g ?bQ[MQ ]
Compare this eugation with the equation of siraight
line y = mx + c.
[NCERT 257]
NO, +4H"— 2H,0 + NO

In this equation, all the atoms are balanced. To
balance charge add 3e to L.H.S. we have

NO, +4H" + 3e- - 2H,0 + NO
[NCERT-XII-184]

Metaphosphoric acid can be prepared by
Phosphorous acid + Br,, heat in a sealed tube

Atomic Radius of Ga is less than that of Al.

Ga has presence of d electron which causes poor
shielding effect.

[Exemplar 141]
[Exemplar 155]
[Exemplar 184]

Gabriel phthalimide synthesis is best method for
preparing primary amines from alkyl halides with-
out changing the number of carbon atoms in the
chain.

[Exemplar 185]

[Exemplar 185]

[Exemplar 222]
Acrilan —  Polyacrylonitrile
Natural rubber — cis-polyisoprene
LDP —  Low density polythene

Nylon 6 — Polycaprolactum

60.

61.
62,

63.

64.

65.

66.
67.

68.

69.
70.
.

FIATZS FI e T Fel B

(4) [NCERT-XII-165]
a9 rehe fafer (Ti, Zr, Sefe o7 i) 3 Al &
ufekar (Ni &t gifeean) are =R sied & |Feg
JEE B

(1) [NCERT 103]

(3) [Exampler-XII]

0.059 5
Emg-/mg = Ef\)ﬂg;f Mg T TJOQ[MQ B!

9 G T y = mx + A @l are e
T FL |

(3 [NCERT 257]
NO, +4H* > 2H,0 + NO
Td g #, @l TR aqford 21 3e # LH.S.
# g 29
NO, +4H" +3e —2H,0 + NO

(3) [NCERT-XII-184]
FERRE 3 + Br, 8T WeT BEERE s a9
ST B 1 AT & Al A 7

(4)

Ga @l T 59T 9 AlF & BT B
Ga® T dgoag © forea gae TReeror v =
2l

(2) [Exemplar 141]

(2) [Exemplar 155]

(2) [Exemplar 184]
R e e B o i
Fergdl & A i R @ T W Ao
HERITOT S HaTedH e £

4) [Exemplar 185]

(3) [Exemplar 185]

(1 [Exemplar 222]
NEEIL S < 2 T B
T — i R
LDP — ¥ g Al
AEAH 6 ~ Il S

NLI/10



72.

@)

[NCERT-XI-182)]

The entropy of a substance increases with increase
in temperature. However at absolute zero the
entropy of a perfectly crystalline substance is taken
as zero, which is also called as third law of
thermodynamics.

73. (3) [Exemplar 232]
Nardil is not a sulpha drug

74. (2) [MOD.NEET]

75. (3) [NCERT-XII-173]
Co-valency of nitrogen in N,O is 4.

76. (3) [NCERT-XII-172]
X=NO.

77. (3) [NCERT-X1-201]

78. (1) [MOD.NEET]

79. (2) [Mod. CBSE]
forCr? CN=6

80. (1) [NCERT-XI1-201]

81. (4 [NCERT-XII-103]

82. (4) [NCERT 320]
CO is used in Mond's process and can not show
back bonding and act as electron doner.

83. (4 [NCERT-XI-203]
cl, + NaOH —»NaCl + NaOCl + H,0

84. (1) [NC 204-205]
In XeO,F, hybridisation of Xe will be spd with one
lone pair so geometry will be see-saw shaped,
2pn—dn bond is present in between Xe and O.

85. (3) [NCERT 189]

0
HO—ﬁ—O—O—H
0]
SECTION-B

86. (1) [NCERT 173]
AG =AH-TAS

87. (4) [NCERT 309, 320]

88. (2 [MOD NEET]

72. (2) [NCERT-XI-182]
A9 # ghg 3 a9 feraar e &1 gt /g S
¥ RHIRT R O O foheeelia werd & weerdt i
I & w9 # forar e @ For W & e aE
2t 'l S B

73. (3) [Exemplar 232]
Arfeet, |l oy q8l 21

74. () [MOD.NEET]

75. (3) [NCERT-XII-173]
N,O, ¥ AFIo &1 9% Haleiehal = 4 21T 1

76. (3) [NCERT-XII-172]
X =NO.

77. (3) [NCERT-XI-201]

78. (1) [MOD.NEET]

79. (2) [Mod. CBSE]
forCr* CN=6

80. (1) [NCERT-XI-201]

81. (4) [NCERT-XII-103]

82. (4) [NCERT 320]
CO & IYGRT A= iger # fehgr wrr 21 98 de
afesar el few wehm 81 3R 98 FeiaeH o & €
¥ o e B

83. (4) [NCERT-XI-203]
cl, + NaOH »>NaCl + NaOCl + H,0

84. (1) [NC 204-205]
XeO,F, ¥ Xe T §HT sp’d U el ol & A1g
forar ST safe safafa e sreer &6t BT forest
2pn—-dn = Xe 3 O & dr9 IufeyT =1

85. (3) [NCERT 189]

i
HO—ﬁ—O—O—H
o)
SECTION-B

86. (1) [NCERT 173]
AG = AH-TAS

87. (4) [NCERT 309, 320]

88. (2) [MOD NEET]

NLI/ 11



[NCERT 205]

Since, ammonium hydroxide is 50% neutralised,
hence [Salt]=[Base]

alt]
=4.74+log, 1=4.74

pOH = pK, +log,, [Base]

pH=14-4.74 =9.26

[NCERT 205]
dfer IR BTageEs 50%3SHIM B | Aty
EERIGEIN]

Salt]
0 [Base]

pOH =pK_ + log =4.74+log,, | =4.74

pH =14-4.74=9.26

[NCERT 37] [NCERT 37]

Molarity of solution Taeae &t Ao =
wg x 1000 2.65%x1000 wg x 1000 2.65%1000
M=—= = = 0.1 M= = =01
Mg XV 106 % 250 Mg XV 106 % 250
MV, =MV, MV, =MV,
0.1x10 =0.001 (10+x) 0.1x10 = 0.001 (10+x)
x = 990 mL x= Bi0 mL
91. (2) [NCERT 41]
91. (2) [NCERT 41]

C, @fam) = C, (31 faea)

C, {urea) = C, (unknown solute)

w, x1000] _ [w, x1000 w, x1000] [w, x1000
mB %, V urea - m3 G V iitknown solite m‘% 25 V uren mH % V unknawn sclute

1051000 51000 1
60x1000 m, %100 Ms=300gmol

101000 51000 }
601000 m, x100 M= 300gmol

92. (1) [NCERT 73] 92. (1) [NCERT 73]
W
W = —_—
W=zt == W2l o
1=1t=1x0.25 | =4 amp.
1=1t=1x0.25 | =4 amp.
93. (2) [Mod. NCERT]
93. (2 [Mod. NCERT] .
_ 30 FEie AR e #4182, gaferT 10 EEieherd,
3Y carbocation is most stable, therefore, 1° I 2 >
carbocation will change into 3° carbocation. ' Sl '
94. (1) [NEET-2017, 2007,2003] 3% ) [MEEF-201752007,2005]
From the given equation feat Al
1
1 2NH, = N +3H; - ...... i
2NH, = N,+3H,; 1 oooon (i) a7 Np#3H,; je e, (1)
1
N,+O, =2NOK, ... (i)

N,+O,= 2NOK, ........ (ii)
3 3|4|2+§O2 = 3H,0Kj ... (iii)

3H,+50, = 3H,0KS ... i) Z

T (i), (i) 3R (iii) AT W= W = Ferar #1

by adding equation (i), (ii) and (iii) we get

KK,

1

5
KK, 2NH, + 20, = 2NO 1 3H,0K =

2NH, +gO2 = 2NO + 3H,O0K =

1

NLI/12



95. (3)

9. (2)

97.
98.

3
M

99 (1)

100. (3)

[NCERT 341]

@]
I Il
CH,~C-CH, , CH.—C-Cl both as an electrophile

as well as a nucleophile.

[NCERT 221]
Kee = (AgCl) = [Ag'] [CI']
Let the solubility of AgCl in 0.2 M NaCl be
s mol L™

Ko = () (CI)
1.8x10 " =5 x0.2

18x10"° _ .

s = T =0x10 M
[NCERT 343]
[NCERT 354]

Kjeldahl method for estimation of nitrogen is not
applicable to pyridine.

[NCERT-XII-25]
[NCERT-XI-140, 141]

95. (3) [NCERT 341]
9 i
CH,~C-CH, , CH.~C-CI @I v gelacIdigel &
A GRS 2 |
9. (2) [NCERT 221]
Ky = (AgCH) = [AgT [CI']
Let the solubility of AgCl in 0.2 M NaCl be
smol L
Ksp = () (CI)
1.8x1070 =g x 0.2
18%x107° Y
S= gy — =910 M
97. (3) [NCERT 343]
98. (1) [NCERT 354]
AECITH & e & g Sesre & qeisH W
AN AR B 2
29 (1) [NCERT-XII-25]
100. (3) [NCERT-XI-140, 141]
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BIOLOGY

SECTION-A—(PART-1)

SECTION-A-(PART-1)

101.

102.

103.

104.

105.

106.

107.

@

@

@

M

4

@

M

[NC--179]

Water moves from less negative to more negative
values of water potenital so B cell has high water
potential then cell A.

[NC-1-186 to 188]
Statement |I:

Pinus seeds can not germinate and establish with
out the presence of mycorrhizae.

Statement Il ;

The cohesion and Adhesion are physical properties
of water.

[NCH-274]
Statement |:
Blood is the medium of transport for O, and CO,
Statement Il :

Haemoglobin is red coloured iron containing pigment
presentin the RBCs.

[NCA-275]
Statement |I:

Carbonic anhydrase presentin RBCs at a very high
concentration.

Statement Il ;

Carbonic anhydrase present in plasma at a minute
quantities.

[NCA-275]
Statement |:

The role of oxygen in the regulation of respiratory
rhythm is quite Insignificant.

Statement Il :
Emphysema is a chronic disorder.

[NC--336]
Statement I

Adrenal gland is composed of two types of tissues
- Adrenal medulla and Adrenal cortex.

Statement Il :
Human body has one pair of Adrenal glands.
[NC-I-99]

The given diagram is nucleosome. It is related with
packaging of DNA helix

Nucleosome = DNA + Histones

It is present in Eukaryotes not in prokaryotes.

101. (2) [NCERT--179]
FIAT B & I & A ¥ 3iferer 81 gafow BHA &
LS
102. (2) [NC-I-186to 188]
Y - |
ITEE T o] ATZhZN ahl IUfel & & aRa
ARl B AT B
Fgq -1l :
TG X AESTT el T i 07 B E
103. (2) [NC-1-274]
YA - |
T@d 0,3 CO, @ itdae & fav A &1 &1 &
21
T -1l
ENREfS || W F avis 81 o fF RBCs #
Iufea §1
104. (1) INC-1-275]
FY -
FAIe TETggd RBCs ¥ a8 el arsl ¥ 3ufeda
BT
Fgq -1l :
FeF THRTEYT Aol & SET o AT ¥ U
BT E
105. (4) [NC-1-275]
T -
e ) T waT W & e 7 agd 8
HEealaE = |
Fygq -1l :
TFRIRTET U e O B
106. (2) [NC-1-336]
&Y - |
TS A < TR & seenl @ R B 2 wdiee
AT 37T VI FC
Fgq -1l :
AT 0 6 U G el TS ufr B 7
107. (1) [NC-11-99]
fear amar forg —afereara &7 & S DNA ueel &
denforn & avafeug 21
fFeriant = DNA + e
% FAhaed ¥ qE1 99 € A & faiaes ¥
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108. (4)

109. (4)

110.

11.

2.

(1)
(2)

(3)

(4)
(4)

@)

2

113. (4)

114.

115.

)

@

[NC-II-107 to 111]

Sigma Factor —  Transcription
Rho factor — Transcription
Cappingand Tailing —  Transcription

E.coli —  Splicing process not
takes place.
[NC-lI-114 to 117]
Release Factor — Translation

UTR —  Required for efficient

translation process
Charging of t-RNA

Aminoacylation of
t-RNA

Lac operon — Both negative and
postive regulation
[NC-II-118 to 120]
Statement I:

The human genome project was a 13-year
projectcoordinated by the U.S. Department of
energy and the national Institute of health.

Statement Il :

The chromosome 1 has most genes (2968) and
the Y has the fewest (231)

[NC-lI-121]
Statement |:

DNA finger printing involves identifying differences
in some specific regions in DNA sequence called
as repetitive DNA.

Statement Il :

Depending on the base composition (A ;T rich or
G:C rich), length of segment and in number of
repetitive units the satellite DNA is classified into
many categories such as micro-satellites mini-
satellites efc.

[NCERT-lI-112]
(A)is true but (R) is false

[NCERT-II-159]
Morphine is obtained from latex of the plant

[NCERT-II-150]

Under innate immunity do the skin and mucus
membrane belongs from physical barriers

[NCERT-II-128 to 140]

First cellular forms of — 2000 mya

life appeared

Invertebrates - 500 mya
Sea weeds - 320 mya
Jaw less fish - 350 mya
Dinosaurs disappeared - 65 mya

from earth.

108. (4)

109. (4)

110.

111.

112.

M

4)

@)

113.(4)

114.

115.

©)

@)

[NC-II-107 to 111]
e FReE e Gick]
A Fh —  HqeEd
o 3R 84— 3o
30 Flellg —  eqerrgfa vldar afed 45
ERE
[NC-lI-114 to 117]
Tas=re e o EEL
UTR — gl et ufdhar &
fore smava #1
t-RNA T 3SR —  t-RNA ST whiHeRe
oF A eI D
A e B B
[NC-I-118 to 120]
Y - | :

HHF SR TREATSAT 1399 & A o6 o siant
Sl 8T 9 U e 99 gR FRANT 0T o
Ty -l
oA 1 FEE i (2968) F YA | 954 w4
I (231) e 21
[NC-II-121]

&Y -1
DNA Frrfyfesr % DNA 3 % o o fafore
TR & A1 Tl 6 9o T # | g6 Tt
DNA®&S &1
@ -l
R gl (AT H T=X 394l G:C¥ J=), @vs| =
S 9 Al Seisdl & YR TR AGHECHALE,
e arze snfe % At famar w21

[NCERTHI-112]

(A)HET & Al (R) o &
[NCERT-I-159]
AN GHe o olded T | Henrer o @
[NCERT-II-150]
W& T UFORET & I o 3K Fd fereel IR
AU JFR & AU B F |
[NCERT-II-128 to 140]

ST T 999 HEEE — 2000 mya
& IA BH

FEHIET ST - 500mya
T ERITIR - 320 mya
BESES BT — 350mya
SEAER FEAFE A - 65 mya
T AT gl
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116. (4)

17. (4)

118. (3)

119. (4)

120. (4)

[NC-II-83]
Statement |:

Morgan carried out by several dihybrid crosses in
Drosophila to study genes that were sex-linked.

Statement Il :

Morgan observed that the two genes did not
segregate independently of each other and the F,
ratio deviated very significantly fromthe 9:3: 3 : 1
ratio (expected when the two genes are Independent)

[NC-11-93,94]
Statement |:

Inheritable mutation can be studied by generating
a pedigree of a family.

Statement Il :

Some mutation involve change in whole set of
chromosome (Polyploidy) or change in a subset of
chromosomes number (Aneuploidy) .

[NC-1-68]
Statement |:

James Dewey watson was born in chicago on 6
April 1928. In 1947 he received B.Sc Degree in
zoology.

Statement Il :

Francis Harry Compton crick born on 8 June 1916,
at northampton, England.

[NC-II-75]
Statement |:

Law of segregation is on the fact that the alleles do
not show any blending and that both the characters
are recovered as such in the F, generation though
one of these is not seen at the F, stage.

Statement Il :

A homozygous parent produces all gametes that
are similar while a Heterozygous one produces two
kinds of gamete each having one allele with equal
proprotion.

[NC-II-85to 87]
Statement |:

Besides the Involvement of multiple genes polygenic
inheritance also takes into account the influence of
environment.

Statement Il :

In birds females have one Z and one W
chromosomes, whereas males have a pair of Z
chromosomes besides the autosomes.

116. (4)

17. (4)

118. (3)

119. (4)

120. (4)

[NC-11-83]
ST -1
Totvr e il & srema 8 AEE o S §
FA -1l
AGH A @ & A 2 S oie v gEt A |
TaiaiforT =181 52 3% F, a7 ST 9:3:3 1 9 vl
o1 o (31 oiF & = S F WAE S
araferE o)
[NC-11-93,94]
YA -1:
FINTE JARAA 1 AT FATE T & 5
BE TG
&Yy -l
T IeIREt= gL A S9ad & qidd & 9gifiE
q1 30T Heg A (FEAET) S & 9 2
[NC-11-68]
HY -
SiF S dreEd T S 6 el 1928 ot farRn #
BN o1 9 1947 4 38 S FEsTH faom o B.Sc. #i
JuIfer UET il
Y -l
TieE B0 FReE R 1 9 el & 9
vrpet A 8 1916 % g3 Tl
[NC-II-75]
HYq -1
Tagdier Faw w1 smr g8 99 2 o eller o
et Al e 3 FLAE # 2 e a6 R 9
sreted 2 @ 2, W & F 0 ¥ v e e
2rar gt Sl A 2 vee e Bl 2
A -l
TS BMIGEIE S gRT IoI=T 9371 g3 a9 B
2 Safeh BCUSE Sdeh 2 YR & giadh I
AT B
[NC-11-85 to 87]
w9 -1
3 il & A B & sifAfeT St e
¥ qaleRer & Y| ) ¥ g i 2 |
w9 -1l
el F e ¥ o Z iR ve WA B 8 st
R A AT TR F I Z T FUF ol
BT B
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

@

™

M

@)

(4)

@)

@)

M

M

)

Mycorrhiza is symbiotic association.
Dicot leaves are also called dorsiventral leaves.

Movement of sucrose from phloem sap into the
cell is a active process.

[NC--168]

Tetrad is made of two homologous chromosomes,
each with two chromatids

[NC-I-164]

In animals, mitotic cell division is only seen in the
diploid somatic cells. Against this, the plants can
show mitotic divisions in both haploid and diploid
cells.

[NCH-163]

During G, phase the cell is metabolically active and
continuously grows but does not replicate its DNA.

[NC-I-145]
The given molecule is alanine amino acids.

[NC-I-146]
Protein, Nucleic acid = Primary metabolites

Morphine, Abrin, Ricin, Gums, Vinblastin, Antho-
cyanins = Secondary metabolites.

Secondary metabolities have not identifiable func-
tion at the moment.

All are metabolites.
[NC-I-262, 263]

Pepsin

ProteinﬁPeptones, proteoses
Trypsin
chymotrypein Dipeptidase

Carboxy\r?epﬁdasc Dipeptide———————— Amino acid
Pepsin = Gastric Juice

Trypsin, Chymotrypsin, Carboxypeptidase =
Pancreatic juice

Dipeptidase = Succus entericus
[NCERT-1-262]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

[NCERT-I-248]
Auxin originated from ‘auxein’ which is a greek word

[NCERT-I-249]
Substances like cytokinin like activity is zeatin

[NCERT-I-248]

NAA auxin is not obtained from plants. It is syn-
thetic auxin.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

(2) ATZFRIZST TSIl TFa=el &
(3) Tedrorrdim wferal & ToTaR 7o o FEd 3

(4) ThIST T FEAICH T o TSI 3 T Uk Aiehd 9fhar

&
(2) [NC-I-168]
Ao a1 AT © < FEd A, T o Al sl

& a1y

(1) [NC-1-164]
TALAT I faTe B 2
S & fEnfE e it &
TreH @ SR I
Tt w7 T i #

(1) [NC-I-163]
Sioe ufagld - S yawr

4) [NC-1-145]
fear mar o warie ST 3R o 2

@) [NC-1-146]

oUW, gl 3 = e ST
et 3uTI=ETST

« =9 34 99 g ST & 1 # g & 98
ST F

o WY IUEES 2

(3) [NC-1-262, 263]

T — 2 A, TS — s wrEiersE

- X-Aftee =g S
o YSoEIE, FEAfER, SRR = sEHEE
@
4) [NCERT-I-262]
(A) 3T (R)=HT 2T & 3K (R) |2 =arer # (A) &l
[NCERTH-248]
Fiffera 91z o1 Ieafed e & g3 of for e o
7

(1)

(1)

[NCERTA-249]
gl & 9 & Thariear & Sade &
[NCERTA-248]

NAA iferem witelf & wreey =12f fear /m 21 NAA =
3 2

@)
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133. (4)

134. (3)

135. (1)

Basophils secrete histamine, serotonin, heparin,
etc., and are involved in inflammatory reactions.

Platelets can release a variety of substances most
of which are involved in the coagulation or clotting
of blood.

Lymphocytes are 20-25 percent.

A healthy individual has 12-16 gms of haemaoglobin
in every 100 ml of blood.

[NC-II-53,54]
Statement |:

Increased level of several hormones in maternal
blood are necessary for maintainence of pregnancy

Statement Il :

Immediately after implantation the inner cell mass
(embryo) differentiates into an outer layer ectoderm
and an inner layer called endoderm.

[NC-11-44]

Statement -I- In human the male accessory glands
include paired seminal vesicles, a prostate and
paired Bulbourethral gland.

Statement-1I-The Penis is the male external
genitalia.

[NC-1-197, 198]

Deficiency symptom first appear in older tissue
whenever the elements are relatively called mobile.

SECTION-B—(PART-1)

136. (2)

137. (1)

138. (1)

[NCERT-I-197 to 199,NCERT-I-184]
STP - sewage treatment plants
ATP - energy currency
[NC-1219]

[NC-1-206]

Photosynthesis is endergonic, photochemical,
anabolic and reductive process.

133. (4)

134. (3)

135. (1)

FHifthe fRecrreA, TReiHe, 2al, snf2 & e F
wiceled AR TR & TS A B 9 © o
¥ Rl T & ST a1 g9 e B 2
FerreTged 20 -25 Afed #
U TE A # Tedeh 100 fiefisiie T A 1216
AW EARIfEE BT 2
[NC-II-53,54]
4y -|:
H[el & o ¥ hs BE ol T 9 o[l £1 ol
T &l F91C wEdl 2
%y -l :
FRIYVT & TR 1S R TR TE (OT) i
(vareled ) e U aTEdl T 3 S (Ued)
B B O e I ko et | o A
[NC-11-44]
& -|- ey W R EREeE Ul & i ven @lg
I, TF TIeE X UF S Teageds AT 3
7|
Y- |-Fie T SEg Seeeg 2 2
[NC-1-197, 198]
HHITaE, TR # 9eg G F UF 9 8
SECTION-B—(PART-1)

136. (2)

137. (1)

138. (1)

[NCERT-I-197 to 199,NCERT-1I-184]
STP - af#d ITuR e
ATP - 35l 321

[NC-1219]

[NCERT-I-206]
eR[a FIATT o], JREREEAE, ITHET od

ST Uhd = |

NLI/18



139. (2)

140. (4)

141. (4)

142. (2)

B o o

143. (2)

144. (1)

145, (2)

[NCA-223]
The concentration of COZ2 in atmosphere is 0.03—
0.04 percent The C, and C, plants respond
differently to CO, concentrations. At low light
conditions neither group responds to high CO,
conditions. At high light intensities, both C, and C,
plants show increase in the rates of photosynthesis.
What is important to note is that the C, plants show
saturation at about 360 iIL-1 while C, responds to
increased CO, concentration and saturation is seen
only beyond 450 ilL-1. Thus, current availability of
CO, levels is limiting to the C, plants.

[NCERT-II-5t0 7]
One plant has 10 flower
One flower has 10 stamens
One stamens has 4 microsporangia
One microsporangia has 30 microspore mother cell.
One microspore mother cell produced 4 pollen grain.

Hence
Total number of pollen grain = 10x10x4x30x4
= 48,000
[NCERT-II-23]
Statement |I:

Hybrid varieties of several of our food and vegetables
crops are being extensively cultivated.

Statement Il :

Production of Hybrid seeds is costly and hence
the cost of hybrid seeds become too expensive
for the farmers.

[NCERT-I-6 to 11]
The statements are correct for embryo sac:
It represents female gametophyte
It is haploid structure
The number of cells are greater than pollen grain.
Filiform Apparatus present
[NC-I-304]

Statement-I- In humans Cardiac muscles are
straited in appearance.

Statement - II- In humans Cardiac muscles are
Involuntary myogenic.

[NC-II-60]
Statement I:
Multiload 375 are a type of copper releasinglUDs.
Statement |l :
Lippes loop are a type of non medicated 1UDs.
[NCERT-II-185to 188]

Lady bird - Aphids
Mycorrhiza - Glomus
Biological control - Trichoderma

Biogas - Methanobacterium

139. (2)

140.

141.

142.

143.

144.

145.

)

4

2

@

(1)

@)

[NCERTH-223]

AERT 4 CO, & AigW 0.03 ¥ 0.04 9w e
8

[NCERT-lI-5t0 7]
e re & I 10T 2|
UF T & TE 10 THIN B
UE IR & TR 4 AR 2 |
T A & 9 30 SEIeY] A1 e 2 |
e AHEISIY] AT HITERT 4 R o7 iy i)
el
T
T WRT F07 & §&dT = 10x10x4x30x4
=48,000
[NCERT-I-23]
6y -1
T8 ¥ BAN @RI U9 I FEeAl ol qend e @l
ST T
Gy« -1l :
4157 &1 AR FEA A @t ® e & fog
[NCERT-I-6 to 11]
YUY & fore w8 FuT
g e FHCIFET F e 5 2|
5 RS T |
TS F A RETHRT A T B 2
FIEHTRI ST 3R BT E |
[NC-1-304]
F-1- A # Feas U e Y o
#l
FoMF - |- 99 § Fiigs oo smfes aEeHE
A 2|
[NC-11-60]
Y -1
AR 375 Uk TR I SR ReAfsrr UDs 2|
&y -1l
Tom o vk bR 1 iEr G2 1UDs 2|
[NCERT-II-185 to 188]

EEES - ufthe
LECILEE | - v

E IR CEC T R i A GO L |
siiite - AR R
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146.

147.

148.

149.

150.

@

@

@

(4)

@

[NCERT-II-177]
Somaclones — genetically identical
Explants — Tissue culture
Micropropagation — Tissue culture
Virus free plants — Meristem culture
[NCERT-II-213]

Human protein (a-1-antitrypsin) used to treat
emphysema.

[NCERT-II-208-209]
Lepidopterans - Armyworm
Coleopterans — DBeetles
Dipterans -

CrylAc -

Mosquitoes
Cotton bollworm
[NC-11-198]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

[NCER-II-198]

Vector is the DNA molecule to which the gene of
interest is integrated for cloning.

SECTION-A—(PART-2)

151.

152.

153.

154.

155.

156.

@
@

&)

@

@

@)

[NCERT-I-198,199]
PCR - Denaturation — Annealing — Extension
[NCERT-II-200]
Tumor Inducing —  Agrobacterium
Plasmid
[NCERT-1I-193]
EFB given the definition of biotechnology
EFB = European Federation of Biotechnology.
[NC-I1-281]
The average temperature at surface of earth with
out green house effect would have been a chilly
-18°C
[NCERT-II-261, 262]
Tropical environments, unlike temperate ones, are
less seasonal, relatively more constant and
predictable. Such constant environments promote
niche specialisation and lead to a greater species
diversity and (3) There is more solar energy available
in the tropics, which contributes to higher
productivity; this in turn might contribute indirectly
to greater diversity.
[NCERT-lI-225]
In animals, the organism, if unable to migrate, might
avoid the stress by escaping in time. The familiar
case of bears going into hibernation during winter
is an example of escape in time. Some snails and
fish go into aestivation to avoid summer - related
problems - heat and dessication. Under unfavourable
conditions many zooplankton species in lakes and
ponds are known to enter diapause, a stage of
suspended development.

146.

2 [NCERT-II-177]
a. \ETFAA — FAAEE T H TF G4

b. dedldd] — ideh HaE

c. FeH YIUH- T qqeq

d. fury ¥ aev-faveas gade

147. (4) [NCERT-11-213]
BT WIEH -1 Gdlfefian &1 I9anT seErednT &t
Bl For & o forar o B

148. (2) [NCERT-I1-208-209]
AdE o — e e
Fifode - ¥
Bl - W
CrylAc - HHA

149. (4) [NC-11-198]
(A) 3T (R) 241 w1 8 3ilt (R)@s) =eean # (A)

150. (4) [NCER-I-198]
DNA =7 317] fora for e i ofer 2iar & sl
% forw e 2 et

SECTION-A—(PART-2)

151. (2) [NCERT-II-198,199]
PCR - [Hftraaa —» IEie — TER

152. (2) [NCERT-II-200]

- TYWHTEH TA - CHEEIRE

wAHE

153. (3) [NCERT-II-193]
EFB 99 W[g = siadiaifiat &1 qemr =i fear
EFB = European Federation of Biotechnology.

154. (2) [NC-1-281]
Tt i WAE T SHET AT A A wee geE &
—18°C&Hr

155. (4) [NCERT-II-261, 262]
HAT &= i T A 3T wiean i afteR St
fafaerr ar @wror 2 sfte gdaon & SuderEr fed
3ifer IeATEsRaT B B

156. (3) [NCERT-I-225]

I & 3 S G R a2 1 9 98 96
W YA e 29T o Fuar & | FeAtaias § i |
JaE B
EHEGICEL]
B EeC FI|
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157. (1)

158. (3)

159. (4)

160. (3)

161. (4)

162. (1)

163. (4)

164. (2)

165. (1)

[NCERT-1-228]

The tiger census in our national parks and tiger
reserves is often based on Pug marks and fecal
pellets.

[NC-II- 274]

In India, the Air (Prevention and Control of Pollution)
Act came into force in 1981, but was amended in
1987 to include noise as an air pollutant.

Water Act became effective in India from 1974
[NCERT-II-242]

The components of the ecosystem are seen to
function as a unit when you consider the following
aspects.

i. Productivity
ii. Decomposition
ii. Energy flow
iv. Nutrient cycling.
[NCERT-lI-242, 243]

Vertical distribution of different species occupying
different levels is called stratification.

Itis not a step of decomposition.

[NCERT-II-236, 237]
Commensalism :
Orchid and mango
Egret and cattle
Clown fish and adamsia
Barnacle and balaenoptera

[NCERT-11-258]

The common man would find it hard to believe that
there are more than 20,000 species of ants,
3,00,000 species of heetles, 28,000 species of
fishes and nearly 20,000 species of orchids

[NCERT-I-9, 10]
Class mammalia - Felidae and Canidae family
[NCERT-I-23-24]

Ascomycetes = Penicillium, Yeast,
Claviceps,
Neurospora, Aspergillus
Morels, Truffles.
Phycomycetes = Rhizopus, Mucor, Albugo

Basidiomycetes =  Puccinia, Ustilago,

Toadstool, Agaricus

Deuteromycetes =  Alternaria, Trichoderma,

Colletotrichum
[NC-I-25]

Cuscuta is a parasite. It is a type of plants.

157. (1)

158. (3)

159. (4)

160. (3)

161. (4)

162. (1)

163. (4)

164. (2)

165. (1)

[NCERT-1I-228]
FAR T AT 3 AT SREar # e T 0
MR B & o foesy 3t 7t o

[NC-11-274]

SR § e sfufEE 1974 | 3F gam

[NCERT-II-242]
nifeafaer 59 ¥ AR Ao vE s K oW A T
Trareiet fewd & s
g =1 Jrgell W fte s 2 -
() Ieareehr

[NCERT-I-242, 243]
fafv = w fafe gafeal & 3water fagor =@
o fa=arg FEd 7|

[NCERT-II-236, 237]
FAATeToH T IIMET
nfer 31T 3w
AT T T
FAT3T Aell U9 weRmEr

Tl UF qeAe

[NCERT-II-258]
ey - 28000
difeed - 300000
CINE - S 20000
£l - 20000 ¥ W4T
[NCERT-I-9, 10]
e [T A B R FAE BT S R
[NCERT--23-24]

gEenTEiadTeT = Ao, FedRE, <R,

FrgehrEfada = agalud, W, T,
JéiRaaERds = tiRtey, ufewfar, sdidm,

EE]
SHCUARRIET =HeeERaT, TR, HIFeeETa
[NC-1-25]
FAA JAB B
Uk YeR & JIeN
TESEr e
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167. (4)

168. (3)

169. (3)

—
—

170.(3)

171. (2)

172. (4)

173. (1)

The sporophytes bear sporangia that are subtended
by leaf-like appendages called sporophylls. In some
cases sporophylls may form distinct compact
structures called strobili or cones (Selaginella,
Equisetum).

[NC-1-58, 59]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

[NCERT--32]

The chloroplasts may be discoid, plate-like,
reticulate, cup-shaped, spiral or ribbon-shaped in
different species of member of chlorophyceae.

[NCERT-1-31-43]
| - Selaginella, ll-porhyra, IlI-Sphagnum
IV-Ginkgo
Volvox, porphyra - Algae
Female thallus of marchantia,
Sphagnum - Bryophytes
Ginkgo - Gymnosperm
Selaginella — Pteridophyte
Cryptogams - Algae, Bryophyte, Pteridophyte

Porphyra are members of rhodophyceae they are
produced non flagellates male gamete

All plants containes chlorophyll a

Marchantia, Sphagnum, Selaginella - Haplodiplontic
life cycle

Volvox, porphyra - Haplontic life cycle
Ginkgo - Diplontic life cycle
[NCERT-I-78]

In the floral formula, Br stands for bracteate K stands
for calyx , C for corolla, P for perianth, A for
androecium and G for Gynoecium,

G —  Superior ovary

@ — Actinomorphic
[NCERT-I-76]

In mango and coconut type of fruit are Drupe
[NCERT-I-79]

Economic importance of Fabaceae family

Many plants belonging to the family are sources of
pulses (gram, arhar, sem, moong, soyabean; edible
oil (soyabean, groundnut); dye (Indigofera); fibres
(sunhemp); fodder (Sesbania, Trifolium),
ornamentals (lupin, sweet pea); medicine (muliathi).
[NCERT-I- 102, 103]

Skin

Digestive enzyme

Compound epithelium

Exocrine gland -
Endocrine gland - Insulin

Dense regular tissue Tendon

IS a1 i Feifomer, gdded # qm e §

167. (4) [NC-I-58, 59]
(A) 3T (R) 24T EET 2 31X (R) FET =AW & (A) T
168. (3) [NCERT--32]
Harel @ el aif ¥ e & s A§
T w1 fafaemr aer s 2
169.(3) [NCERT--31-43]
|- fefsme, 11- 9y 1l - Sha—9
IV - firea,
|- 2ReEFTEea
Il - Saret
Il - STErEEeE
IV - forieqd

foeerieg - Sre, aEEEe, 2ASFged

GRITHISRT RIS ol G236 & | 3 Freereiel R gideh
<l T e 81

o o Y FeRifthe av@d g1
— dAefdied, RS - Bvellleceh Sliaq =
- WREET, FeloEe, T - TR SiEe

h
- fawm - e A ww
170.(3) [NCERT--78]
K —  afoe
& ~  FRET
G —  FxAaEl JUEEE
® - UEAFIhE
171. (2) [NCERT-I-76]
3 3 ARG § el ol YR 3T 7 |
172. (4) [NCERT-I-79]
Fad Rl @ s weea

T Fed o Gl A I TRR & 2 (T, IREN,
W, W, G ), @ A (AR, ) T
(Fe); T (), AN (SRR SRR ), St
el (S, e ) ; st () & A 2

173. (1) [NCERT-I-102, 103]
Hgad 39l - @
Bl IEIR L e
T 9@ A — T
oo fafd sae - @usd
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174. (1) [NCERT-I-114-115] | 174. (1) [NCERT--114-115]
Hexagonal structure  —  Unitof compound eye YeF g =] _ g—a—qﬁ e # e
Phallomere Sctpl:tg;l?;les asymmetrical o B Fs S
Spermatophore —  Bundles of sperm AT
Paurometabolous —  Type ofdevelopment TR _ Wﬁﬁ T Tl
Ommatidia - g;; of compound it L T
Collaterial gland - Ootheca FHciEa ~  HGFT HE A T

175.(4) [NCERT--102] v afeer _ Ivesegy
The type gf cell junctions found in the epithelium 175.(4) [NCERTH-102]
and other tissues-

(1) Gap junctions FIfITERT A2l ITe 3 3T FAd! I A E
(2) Adheringjunctions (1) 3R af=er
(3) Tightjunctions ©) et af
176.(4) [NCERT--104]
Cartilage is present in our body - @) Ll
176. (4) [NCERT--104]

— Tipofnose

— Outer ear joints

— Between adjacent bones of the vertebral column
177.(2) [NCERT-86,87]

#  Thickened comers

Frotoplasm

A v o}
Get S AnCE Sirve porr
‘ g g’ r

siove tabo

i'f elem=n
47 ST

pomendrma

T

A ; (D)
i

B-Xylem, C-Phloem and

A-Collenchyma,
D-Companion cells
178.(4) [NCERT-I-87, 88]
Tracheids are presentin the xylem of —
(1) Gymnosperms
(2) Pteridophytes

(3) Angiosperms

AR IO A I 97 oI 2 -1 1 A 9, 929
I G189 99 dees 1 e o sy & ey

el

177.(2) [NCERT-86,87]

AT, B-713009, C-FAH 3 D-He=< Shifareh
[NCERT-I-87, 88]

FATGFASA, SUAFIZEH R A & A3 A

178.(4)
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180.(1)

181.(2)

182. (4)

183.(4)

184.(4)

185.(2)

DCT is also capable of reabsorption of HCO, and
selective secretion of hydrogen and potassium ions
and NH, to maintain the pH and sodium-potassium
balance in blood.

[NCERT-1-232]

Oxaloaceue acid

(1€}
NADH+H' o,
NAD®
NAD®
NADH+H"
« ketoglutanc acid

¢
Malic arid  CITRIC AUTD CYCLE (50
(ET¥]

Citrie acid
(501

[NCERT-1-229]

ATP are utilised as well as released during
glycolysis.

H,O are released only during 2-Phosphoglycerate
— 2-phosphoenolpyruvate.

[NCERT-II-43,44]
Statement |I:

An ideal contraceptive should available, effective and
reversible with no or least side effects.

Statement Il :

Natural methods work on the principle of avoiding
chances of ovum and sperms meeting.

[NC-1-272,273]

Both (A) and (R) are true and (R} is the correct
explanation of (A)

[NC-I-246, 247]

Human, fish, sparrow are occupy at more than one
trophic level.

[NC-II-135]
Statement I:
Mutation are random and directionless
Statement Il :

Darwinian variation are small and directional

e waferd Afererr (DCT) : fafare gftfeufeay % Na-
3R STl 1 ey JAOEsIer 36 AN 3 B4 B | ey
HaforT Aferent T § WA -Tie e &1 dga 5
pH #AW @ & oI argaEHed &1 e gF
H-, K- 31 Srifar &7 9a=Tees =@ F3 2 |

180. (1) [NCERT-I-232]

T

CaA o "L NAD®
\ NADH+H"
< Co
TATITEA AIEH A

12C)

e i »ﬁl\

14C) fafew w=
NADH+H" BC) Co,
NADY
NADHHT

181.(2) [NCERT-I-229]
ATP Tagehiferlad % IUENT 819 & 919 & arg 994 <
BT E
- H,0@ad 2 FwERfieRRe— 2-FERRHAIEE T &

RS & S 9T BT 2
182. (4)

%Y -1:

T e W FRUE AT & B a6 e w

AT A Ferd, FET a7 forden &g s

THIE 1 IO 41 8 A7 81 o A

Y -1l :

Tl faferar siver] o a[eht] & 9 T A &

g W F FeE 2
183. (4)

[NCERT-II-43,44]

[NC-11-272,273]
(A) 3T (R)ZHT 98T 7 3K (R) €21 =Avem § (A) =T
[NC-11-246, 247]
S, HSll, TAT T o 17O 9T = W I W
%1 fafeey ofta= &
185. (2)
Y -1
FeARae e 3R el B 2l
Y- -l :
sIfd Tl S1et 3 feamem B 2

184.(4)

[NC-II-135]
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SECTION-B—(PART-2)

SECTION-B—(PART-2)

186.(2)

187.(3)

188.(4)

189. (4)

190. (4)

191.(3)
a.
b.
€:
d.

192.(1)

[NCERT-II-208]

PPLO =Pleuro pheumonia like organism
PPLO = Prokaryotic organism.
GMO = Genetically modified organism.
ART = Assisted Reproductive Technology
¢ x 174 = virus
MALT = Lymphoid Tissue

[NCERT-II-11,13]

Pistillate flower - Unisexual
Antherozoid - Type of gamete
Homothallic - Bisexual
Meiocytes - Gamete mother
cell

[NCERT-II-37]
Statement |I:

Placenta also acts as an endocrine tissue and
produces several hormones.

Statement Il :

The morula continues to divide and transforms into
Blastocyst

[NC-II-89]

Statement -I- Genetic disorders may be grouped into
two categories — mendelian disorders and
chromosomal disorders.

Statement-lI-Mendelian disorders are mainly
determined by alteration or mutation in the single
gene.

[NCERT-I-47, 48]
The diploblastic animals are
e.g. Phylum porifera, cnidaria, ctenophora
Porifera — Spongilla, sycon
Cnidaria — Hydra, Adamsia, Meandrina, Physalia
Ctenophora — Ctenoplana.

The triploblastic animals — Platyhelminthes to

chordata
[NCERT-I-137,138]
Spoke —  Flagella
Spoke —  Cilia
Spoke —  Centriole
Spoke —  Proteinaceous
[NCERT-I-326,327]

Tectorial membrane = Hearing

[NCERT-II-208]
PPLQ = Pleuro pneumonia like organism

PPLO =dmhRaidies sig

GMO = Genetically modified organism.

186.(2)

ART = Assisted Reproductive Technology

¢ x 174 =T
MALT = =R Sdsh
187.(3) [NCERT-II-11,13]
TRl - IWE ® YER
LLPCE) - feferr
RRIEIE - T AR
188. (4) [NCERT-II-37]
Sy -1 :
TR AT e & o I A 2 3 e
B GG T 2
Y -1l :
AEHAT TRIER {811 @aT # 3R seeifore §
wRafe 2 S R
189. (4) [NC-11-89]

o - |- AT R S § A o o
Gehl £ - drsellad [asR 3R qurgEy faer

F-|| e (TR Fead: Uehel oA & €970t 41

Ieqfead & fuifa g9 @
190. (4)

fewrifter Si=gall &1 &5 2

e - g QAw, SRR, SHwR

ARG - e, A

EAERT - ERAET

Pt o -widRfen=iier & weer

[NCERT-1-47, 48]

191.(3) [NCERTA-137, 138]
a. ™ —  halReRT
b. @R - TEATY
c. WF -  dREFaE=
d. = 14
192. (1) [NCERT--326,327]

e Iige faree - o ¥ weEdr
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194.(2)

195. (4)

196.(1)

197.(3)

198.(2)

199. (4)

200. (3)

Distance between two bp is 3.4 A

51

Number of base pair =3 4x10©

=1.5x 10
[NCERT-1-126]

Cytoplasm is the main Arena of cellular activities in
both the plant and animal cells.

[NC(1)-276]

Long exposure can give rise to inflammation leading
to fibrosis (proliferation of fibrous tissues) and thus
causing serious lung damage

[NCERT-I1-336,337]

Cortisol is a hyperglycemic hormone. Epinephrine
is secreted from adrenal medulla.

[NCERT-1-285, Mod. NEET 2019]
Our heart normally beats on average 72 beats
min'.

Cardiac output

Stroke vol
roke volume 75

7.2x1000
72

100 ml

[NCERT-1-163]

In Animal cells during S phase the centriole
duplicates in the cytoplasm.

[CBSE, PMT-Mains 2010 (NC-1-309-312)]

Fibrous joints do notallow any movement. This type
of joint is shown by the flat skull bones which fuse
end-to-end with the help of dense fibrous connective
tissues in the form of sutures, to form the cranium.

The 11th and 12th pairs of ribs are called floating
ribs

[NCERT-11-263]

dodo —  Mauritius
thylacine — Australia
Steller’'s sea cow — Russia
quagga —  Alrica

A UR g & G99 T 3.4A° B

=1.5x 10"
194.(2) [NCERT--126]
e 3R 3 e H R AT T E 9E
VT FiEmE 7
195. (4) [NC(1)-276]
JENN A YAH & SIHRIA T & 9RO hnel A
ST, IR, U HE] o e TEae

196. (1) [NCERT-I-336,337]
I TEFA Hgel F B B
FICTE U BT TS B ©
197.(3) [NCERT-1-285, Mod. NEET 2019]
BURI B A Fadd 72 wed /faqe @) e d
T FA B |
=g Mo
hE AEE =
72
_7.2x1000
)
=100 ml

198. (2) [NCERT--163]

S RIS H S e & SR A @
FAfSrrE ¥ HIAU S B

199. (4) [CBSE, PMT-Mains 2010 (NC-I-309-312)]
WAl 3% 128 St @t gaferat wedife vafert waet
2

200. (3) [NCERT-I1-263]
EE S (ELC)
oI - e
e w9 g - w9
TR - hlET
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